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Tuesday, April 8, 2008

--- On commencing at 9:30 a.m.


MR. KAISER:  Please be seated.


Mr. Millar.

Preliminary matters:


MR. MILLAR:  Good morning, Mr. Chair.  We have Dr. Lowry here today to address the Panel.  Before we get to that, Union has filed its responses to undertakings J3.2 and J3.3.


I understand Mr. Penny has brought Mr. Wilson to address J3.3, in any event, if that is necessary, but I understand there is some dispute amongst the parties as to whether or not that is appropriate.  Maybe I will hand it to Mr. Penny.


MR. PENNY:  Yes, thank you.  I haven't heard from my friends on this issue, but I think Mr. Millar accurately captured it.  We have Dr. Wilson available.  Mr. Mintz is back in his day job in Calgary.  He is not available.


Mr. Birmingham is also back in his day job and out of the country in Houston, so he is not available, but Mr. Packer is in a position to speak to the Union aspect of that answer, if the Board thinks it is appropriate.


I am not necessarily proposing it.  It just seems to me it is not perhaps an obvious piece, and if the Board would find it of assistance, we can make Mr. Wilson available to walk you through it.


MR. KAISER:  Do you have questions, Mr. Shepherd, on this?


MR. SHEPHERD:  Mr. Chairman, I will have questions, but my expert has to look at this first, and we will need some technical information on how calculations were made, which is not something that was appropriately gone into in cross-examination.


We got this about 10:30 last night or so, and so I sent it off to my expert.  I think he probably has it this morning, and I am going to talk to him about it sometime later today and see how long it's going to take before we're in a position to ask intelligent questions.


MR. KAISER:  Mr. Penny, would Professor Wilson be available on the 14th?


MR. THOMPSON:  Mr. Chairman, could I speak to this, as well?


MR. KAISER:  Yes.


MR. THOMPSON:  I feel quite strongly -- I have questions on this document and I feel strongly that they should be asked before Dr. Lowry testifies so that Dr. Lowry will have the benefit of some probing of this document.  And so I would prefer to ask my questions this morning of Mr. Wilson and Mr. Packer, if that is appropriate.


MR. KAISER:  Does that bother you, Mr. Shepherd, if Mr. Thompson goes ahead?


MR. SHEPHERD:  No, that's fine.  Thanks.


MR. KAISER:  Mr. Penny.


MR. PENNY:  It puts us in the position, I guess, of having to do all of this twice.  It does seem a bit unusual to me Mr. Shepherd's position, since he's the one who asked this question, and if the witnesses had been in a position to answer it on the stand, he would have had the answer two days ago on the stand.


So it does strike me as being odd that we would be talking about technical conferences or interrogatories and such on an answer to a transcript undertaking.


I do appreciate that he wants the benefit of assistance from his expert, and, again, if the answer had been given on the stand and his expert was here, he could have conferred with him.  But, again, it seems strange to me to be talking about a whole new process just to deal with the answer to an undertaking.


I must say that I am concerned about having to do this twice, when what we're dealing with is an answer to a question that Mr. Shepherd posed.  But if that's what works, I mean, obviously we want to bring this to a conclusion and do it in a way that is fair.  So if that is what works, then we would be prepared to do this.


I can't say, sitting here right now, Mr. Chairman, about the 14th.  I will have to check.


MR. KAISER:  Mr. Millar, do you have questions on this document?


MR. MILLAR:  I am not able to ask questions this morning, but I did provide it to Dr. Lowry this morning.  I understand he does have some -- he is able to comment on it.  I don't even know in detail what he plans to say, because, as I say, he only got it about an hour ago.  But I do plan to ask Dr. Lowry about it on the stand today.


MR. KAISER:  So am I right you do have questions --


MR. MILLAR:  I don't know if I do or if I don't.  I am not prepared to ask questions today, but it may simply be sufficient to have Dr. Lowry comment on it.


MR. KAISER:  Mr. Warren.


MR. WARREN:  I am in the same situation, as Mr. Shepherd.  Mr. Kaiser, I sent this off to Dr. Loube when I got it last night and I haven't talked to him.  Whether I have questions or not will depend on his analysis of it.


MR. KAISER:  Well, Mr. Penny, it looks like people need some time.  This is an important aspect of this case.


I realize it is inconvenient bringing Dr. Wilson back twice.  Mr. Thompson, on the other hand, wants to proceed today, regardless, and Dr. Wilson is here, so we might as well let him shoot and proceed.  It will at least take care of one of the intervenors.


If you could consult with your witness and see if the 14th was a possibility?


MR. PENNY:  Professor Wilson has told me he is available, but I need to check.


MR. KAISER:  We're flexible during that day, depending on your schedule.


MR. PENNY:  Thank you.


MR. KAISER:  Does that suit you, Mr. Shepherd?


MR. SHEPHERD:  I am actually not in town on the 14th, Mr. Chairman.  I can't cancel.


MR. KAISER:  Well, the Board has limited --


MR. SOMMERVILLE:  Sorry?


MR. SHEPHERD:  It's my daughter's birthday, so I can't cancel.


MR. KAISER:  All right.  Why don't we come back to this?  The Board has some scheduling problems, as well, as you might guess, and we did have a day there that -- but we will revisit this after the break.


In the meantime, Mr. Thompson, I take it you want to proceed before the Lowry evidence with Dr. Wilson?


MR. THOMPSON:  Yes, please, if that is acceptable to the Board.


MR. KAISER:  Yes.  Is that satisfactory?


MR. PENNY:  Yes, Mr. Chairman.  What I propose, then, is that Professor -- we will have to, we will file Mr. Packer's CV and he will have to be sworn, but he was involved in the preparation of the Union aspect of the calculations.


MR. KAISER:  We are familiar with Mr. Packer.


MR. PENNY:  And what I would propose is that Professor Wilson and Mr. Packer walk you through what it is, so that there is a clear understanding of it, and then Mr. Thompson can ask his questions.


MR. KAISER:  All right.  Thank you.


MR. MILLAR:  Maybe, Dr. Lowry, I will ask you to vacate the witness stand while Dr. Wilson and Mr. Packer take the stand.


MR. PENNY:  Excuse me, Mr. Chairman.  Would you mind if Professor Wilson just slips out for a...


MR. KAISER:  Do you want to take a short break and get ready?


MR. PENNY:  Five to ten minutes would be fine.


MR. KAISER:  Fine.


--- Recess taken at 9:40 a.m. 


--- Upon resuming at 9:50 a.m.

MR. PENNY:  Thank you, Mr. Chairman.  Thank you for your indulgence.  We just plotted out, the 14th is next Monday.  I am available next Monday.  So perhaps I can just deal with Mr. Packer and then have him sworn, and then they will give their explanation.  So, Mr. Packer, you are currently -- you were recently appointed --

MS. CHAPLIN:  Shall I swear him first?

MR. PENNY:  Oh, yes, you're absolutely right.  We should do that first.  Thank you, Ms. Chaplin.
UNION GAS - PANEL 1, resumed

Dr. Thomas Wilson, Previously Sworn

Mike Packer, Sworn


MR. MILLAR:  Mr. Penny, while he is being sworn, you provided copies of his CV. I assume you'll like those entered as exhibits?

MR. PENNY:  Yes, thanks.

MR. MILLAR:  That'll be Exhibit K6.1, and it is the CV for Mr. Packer.  I have copies for the Panel.
EXHIBIT NO. K6.1.: CV OF MR. PACKER

Further Examination-In-Chief by Mr. Penny:


MR. PENNY:  Mr. Packer, you were recently appointed the director of planning and forecasting at Union Gas?

MR. PACKER:  That is correct.

MR. PENNY:  You were for a considerable period of time involved in the regulatory aspects of Union's operations, both as director and as manager of regulatory initiatives?

MR. PACKER:  That's correct.

MR. PENNY:  And I understand you are both a certified investment manager and a certified management accountant?

MR. PACKER:  That's correct.

MR. PENNY:  And you have your bachelor, honours bachelor of business administration from Wilfrid Laurier University?

MR. PACKER:  That's correct.

MR. PENNY:  You're a member of the Society of Management Accountants of Ontario?

MR. PACKER:  Yes.

MR. PENNY:  And you have been -- you have testified before this Board on numerous occasions previously on both regulatory and rate matters in the past?

MR. PACKER:  That's correct.

MR. PENNY:  Thank you.  With that, then, -- sorry.  You were, I understand, involved in the preparation of Exhibit J3.3?

MR. PACKER:  I was.

MR. PENNY:  And specifically that aspect of Exhibit J3.3 that deals with the Union-specific calculations?

MR. PACKER:  That's correct.

MR. PENNY:  All right.  Thank you.  Do you adopt that answer?

MR. PACKER:  I do.

MR. PENNY:  Thank you.

Thank you, Mr. Chairman.  With that, perhaps Professor Wilson, you and Mr. Packer can walk the Board through what we have here and what it is, and what you have done.

DR. WILSON:  Yes.  Thank you.  The division of labour between us is that I will address the material that's in the top half of each of these tables, down to line 15.  And then Mr. Packer will address the calculations below that.

I am going to deal with each table in turn.  Let's just start with a little bit of background here.  I think it is generally agreed that capital formation responds to tax changes, with a lag, and because of that any kind of price response will be with a similar lag.  It is generally agreed, I think, that as capital is put in place, that brings down cost and that gets passed through to prices.

The impact of a change in taxes on investment and capital formation, takes place with what economists would call a distributed lag.  It's not just a -- we do, the tax change occurs this year and investment occurs one year later or just two years later.  It is actually spread out over time, though would be typically some response during the initial year of the tax change, but then followed by a pattern of response that could extend several years into the future.

So what this means is when we look at any particular year, and say, what's the impact of a set of tax changes on that year, we've got to examine not only the tax changes that are put in place that year, but also the tax changes put in place in prior years.  Again, extending back over a similar horizon.  So if we thought, for example, that the distributed lag effect occurred over five years, we would be looking at the impact of a tax change this year and in the succeeding four years.  And if we wanted to know this year what's actually affecting capital formation and prices this year, we would not only take into account this year's tax changes but the preceding four years' tax changes, as well.

Now, the estimates of the pattern, of this distributed lag pattern that we use in these tables, is based on simulations with the focussed econometric models, macroeconometric models of Canada and Ontario, mainly with the Ontario model.  These were conducted by my colleague, Peter Dungan, who is the director of the Policy and Economic Analysis Program at the University of Toronto.  And these particular simulations were done in connection with a study of Ontario tax reform, the tax reform that we were examining, and Dr. Mintz and I and Finn Poschmann of the C.D. Howe Institute are also involved as co-authors of that study with Professor Dungan -- was what would happen if we replace the Ontario retail sales tax with an Ontario value-added tax, modelled after the federal GST.

A key feature of that particular type of reform is that the sales tax burden on capital goods is largely eliminated.  Not completely, but it is largely eliminated.  There is a significant sales tax burden from the retail sales tax on capital spending.

So the simulations that Professor Dungan carried out were that in that context.  We looked at changes in the sales tax burden on machine and equipment investment and on non-residential construction and then traced through, using the model, what would be the impacts on investment and on the capital stock.  And it's the capital stock that matters here, because when the capital is in place that it's going to have an impact on prices.

So these -- we use this lag pattern to then allocate the changes in tax rates that Dr. Mintz and Duanjie Chen had calculated, the marginal effective tax rates on the capital stock, and we took all the tax changes from --starting in the year 2000, the -- you could get data before that, but the actual tax changes started then.  Started in 2000 and carried through, including scheduled future changes, to 2012.

In the top part of table 1 -- there are a lot of numbers here.  Let's just take a look, for example, at the column for 2008.

This column, 2008, by the way, we built into this table the regulatory lag.  So these are actually the numbers for the change in the price deflator for 2007.  It's then operated for the price cap calculation for 2008.

So what this shows, for example, is that if we say:  Well, what about all of the changes prior to that year, up to 2006?  There were a bunch of changes in the past, which we estimate would currently be having a negative 0.24 percent impact on prices.

Then in 2006, 2007, there were tax changes that had the similar impact, minus 0.24 percent.  I might just add parenthetically that that was the year when the GST cut; the first round cut went in mid-year.  So that had a minus 0.2 effect of that.  So most of that minus 0.24 for the current year was the GST impact.

Then when we add those two together, the changes prior to 2007 and the changes after 2006, we get what we think is the impact in that year of all of the tax changes, current and previous, and it is negative 0.48 percent.
Questions from the Board:


MR. SOMMERVILLE:  0.49 percent, isn't it, Dr. Wilson?  Am I reading the wrong number?  Oh, I see, for 2008.  I beg your pardon.

DR. WILSON:  2008 is 0.48 percent.

MR. SOMMERVILLE:  Thank you.

DR. WILSON:  You will notice in this table we bolded three lines, lines 7 -- that's just because that is a totalling of all tax changes prior to 2007 -- and then we have bolded the tax changes there, 2007 and in future years.

Line 15, if you read across, gives you the summary impact of current and past changes on the GDP final demand deflator for each year of Union's incentive regulation period, for each of the five years.

Another thing to note, I guess, is of course as you move into the future, the effects of the past tax changes, the pre-2006 changes, of course diminish as you are working towards the end of the distributed lag periods.  You will note, for example, in 2012 the tax change in 2001 over 2000 goes to zero.  It has disappeared at that point.  It is beyond the ten-year period we're using -- we're evaluating the taxes over.

You will notice a combined impact of the previous -- of these older tax changes prior to 2007 diminishing year by year as time advances into the future.  So we're taking into account these past changes, but of course their impact is greater initially in the incentive regulation period than it will be in the -- than they will be in the future.

Are there any -- is this clear?  At this point, I know it is a lot to absorb here in a short time.

MR. KAISER:  The only question I have is:  To what extent are these prior tax reductions already in the Union costs?

DR. WILSON:  I think that's a question I should defer to Mr. Packer when he presents his section of the table, because he took the -- the division of labour was my colleagues and I.  I had a research associate working with me, Steve Murphy.  We were responsible for working through the impacts of the tax changes on the final demand deflator, which Mr. Packer and his colleagues then used in constructing the Union cash flow or income statement numbers that are in the...

[Witness panel confers]

DR. WILSON:  He would like to answer now.

MR. PACKER:  Because 2007 was a year where rates were set under a detailed ^cost of service proceeding, all previously enacted tax changes and a forecast of the tax regime that would exist in 2007 were built into the 2007 rates.

DR. WILSON:  But that is the effects that have been realized to that point?

MR. PACKER:  Correct.

DR. WILSON:  What's being shown for those old tax changes for 2008, 2009, '10, and so on, is the part of them -- that if our distributed lag analysis is correct, the part that is yet to be realized in prices.

MR. KAISER:  Thank you.

DR. WILSON:  So can I move on, then, to the next table?

You will recall, I think, that Professor Mintz and I emphasized in our testimony that anticipatory effects are important when future tax changes are scheduled and legislated.  And that was the case at the beginning of the period we're looking at here, at the end of 2000 when the federal government announced a five-year tax reduction plan that had a number of scheduled tax changes in it, and it has happened again in this previous October with the October fiscal statement, fiscal update, where a series of future tax changes are announced, tax reductions.

These -- a future corporate tax rate reduction can actually have a stronger impact, if firms believe that it is in fact going to happen, relative to a current corporate tax reduction.  They just consider it in isolation, because if they know what's coming in the future, it gives them and incentive to shift the investment today to take advantage of the deductions for things like interest costs and capital cost allowances while taxes are still high.

But if there's scheduled future tax -- if there's a current tax cut followed by other future tax cuts, there would be similar kinds of effects.

So in order to allow for this in a straightforward way, we decided to simply shorten the period of adjustment which, in the -- in table 1 is the adjustment of capital -- the capital stock that occurs over ten years.  We shortened it to having it occur over seven years, and this means effectively the weight on each of the first seven years gets increased by about 23 percent. 

So you would be getting a 23 percent higher price effect each year.  This is from the corporate changes.  No changes to the GST changes, because they always come in simultaneously.

If you look at table 2 now, you will note stronger -- somewhat stronger effects, larger negative effects, on the price -- this is on line 15, the price effects, somewhat stronger than they were in table 1.

For example, the impact for 2008 - then regulatory 2008, so this would have been 2007 price impact - would be minus 0.55 instead of minus 0.48.  The impact for 2009 would be minus 0.96 instead of minus 0.87.  In 2010, it would be minus 0.66 instead of minus 0.58.  

So, you know, not a huge increase, but some increase in the estimated impact of taxes.

I want to emphasize we're applying this anticipatory approach throughout the period.  It isn't just being used going forward.  It is also being used in the past, and you may note -- let's say if we look at 2012, for example.  The impact of the past changes in table 2 is now only negative 0.08 percent instead of negative 0.12 in the previous year, and that is because building in the anticipatory effects means a larger amount of the tax changes done in the past are, in fact, realized in the past, and also that the years that drop out -- you will notice, if you look at the upper right-hand corner, in table 2, you see the zeros spreading in the upper right-hand corner.  

That is simply because with the seven-year horizon, more of those previous years are no longer having an impact.

So this table, then, shows there is building in some anticipatory effects.  You get stronger effects, like larger negative effects, on the GDP final demand deflator.  

I might pause again to see if there are any questions about that particular table before I move on to the third table, and then turn it over to Mr. Packer.  Okay?

MR. KAISER:  Go ahead.

DR. WILSON:  The third table is what I would say is a sensitivity analysis.  The estimated period for full realization of capital formation is not a precise number.  It's a number where our model manager, who has worked with the model, would say -- and the model tends to settle down by around the tenth year, that we have close to the full response at that point.  But that is our model.  A different model could give a different result. 

So we thought, Well, let's extend the period.  Let's stretch it out.  And we decided for symmetry, let's add three years and show what happens if the price adjustment is stretched out over a 13-year period.

When we do that, the impacts on the prices are somewhat weaker, like, not as large negative numbers as in table 1 and as in table 2.

So stretching the period out means there's going to be a larger -- longer lags.  You're going to have larger impacts of the old tax changes from the past, currently, but somewhat smaller impacts of the tax changes that occur now and going forward.

If you compare the bottom line of table 3 -- pardon me, not the bottom line -- line 15 of table 3, with line 15 of table 1, you will see somewhat weaker effects.  For example, in 2008, instead of negative 0.48, we're getting negative 0.45.  In 2009, instead of negative 0.87, we're getting negative 0.82.

It's only when you get into the -- if you go out further, you then start to get a bit of a flip-over, because some of the big tax changes -- there were two bigger tax changes occurring in the last couple of years.  Because of the longer lags, more of their impact is occurring in the future.

So you get somewhat less of an impact in the early years of the IR and a little bit bigger in the later years.

Any -- is that clear?  Why don't I now turn it over to Mr. Packer?

MR. PACKER:  So what we have tried to do on lines 16 through 26 is compare the impact that would result from the tax changes flowing through the revenue requirement calculation to the impact that those tax changes are having, first on the GDP deflator and then as a result of the use of that inflation factor in the pricing formula, how that would look or show up in terms of the prices in rates that we're charging through incentive regulation.

We have attempted to put the formula or identify the formula in the column just before the years.  So if I look at line 15, the L7 plus L14, that is --

MR. PENNY:  You are on table 1?

MR. PACKER:  I am on table 1, but all of the tables are structured in a similar way.

So if I look on line 15, the third column over, the L7 plus L14 reference is intended to describe the fact that that line is being calculated by adding line 7 to line 14.

So essentially what we do, and I guess I am down on line 19 at this point, is we are calculating the impact that the GDP deflator differences that have been provided by Doctors Wilson and Mintz are having on the price change in each particular year.  So basically taking the price change -– or, sorry, the GDP deflator change and multiplying that by our base revenue requirement which appears on line 16.We have kept the base revenue requirement the same, just as a simplifying assumption.  That will change over time as prices start to show up, or the effects of applying the incentive regulation pricing formula starts to show up.

But I don't think that will have a significant impact on the results.

So we calculate what the impact in each year is, as a result of the application of the pricing formula.  We then have -– so that's what's happening on line 19.

On line 20, we try and calculate what the annual impact on rates is, and the difference between line 20 and 19 is you have to take into consideration the fact that in any particular year, not only do you have the impacts of the pricing formula in that year, but you also have the impact of the pricing differences from the prior years.  So essentially what we're doing on line 20 is keeping a running total of the rate impact that appears in each particular year, which is different than the price impact that appears on the prior line.

Then finally, we keep a running total of the rate impacts in every year so that we can, by the end of the five-year period, come up with a number that we can compare to the five-year sum total of what would be showing up if we were doing the revenue requirement calculations.

We do the same type of calculations on line 23 through 26 for the entire period 2000 through 2011, whereas on line 19 through 22, we isolated the impact of the 2006 through 2011 period, as we were requested to do in responding to the undertaking.

What you see showing up when we go through all the calculations -– and I am on table 1 at this point -- is that there is a small benefit to ratepayers as a result of how the income tax changes are flowing through the GDP deflator and ultimately the pricing formula, in the amount of about $200,000.

Moving to table 2, again the calculations are all done the same way.  We just used different GDP deflator differences that were provided by Doctors Wilson and Mintz.  If you look at what the impact would be if the anticipatory effects are reflected, the impact or the benefit the ratepayers get as a result of the pricing formula grows to $9.7 million.

And lastly, on table 3 -– again, I am on line 26 -- if you look at the effects of the sensitivity analysis that Dr. Wilson referenced, where you take out the anticipatory effects and you have a longer lag, there is a five-and-a-half million, roughly, dis-benefit to ratepayers as a result of the pricing formula relative to the revenue requirement calculation.

That was it from my perspective.

MR. KAISER:  Am I right, just using table 1, I understand that you can make the modifications in table 2 and 3 for anticipatory affects.  But just using table 1 as the simplest version, am I reading this correctly, that if we don't take into account the prior tax changes, a reduction of 27 million is recovered, is reflected in rates.  If you take into account the prior tax changes, it is 80 million?  Is that correct?  I am talking about over the entire period.

MR. PACKER:  If you don't take into account the prior -- the impacts of prior tax changes, the impact is 53.  And so the difference between 53 and the 80 under revenue requirement is 27.

MR. KAISER:  All right.

MR. PENNY:  Perhaps you could explain, walk through those numbers as to how you got there.

MR. PACKER:  Again, just to provide a further explanation of how to do those calculations, the cumulative effect of the revenue requirement calculations appears on line 18.  So that is 80-and-a-half million dollars.  That came from, fundamentally came from the E3.1.1 exhibit.

Then when you calculate, or do the calculations just reflecting the current period tax changes and you work that through the GDP deflator and ultimately the pricing formula, what you get is $53 million flowing through to ratepayers.  So the difference is 27 and a half.

MR. KAISER:  So the 27 that you pick up from the prior period, you told us earlier that when you had rebased, you had taken those tax reductions out.  So by putting them back in, in the deflator, you're not double-counting?

MR. PACKER:  No.  You actually need to reflect them in the deflator to avoid asymmetrical treatment or an inappropriate approach.

As a result of reflecting those prior tax changes already in our revenue requirement, the benefit of those tax changes is flowing through to ratepayers.  It already has flowed through to ratepayers.  What we're showing at the top part of the schedule is the lingering effect that those prior tax rate changes will have on the GDP deflator, which will be artificially -- or reducing the deflator from where it otherwise would be.

So the ratepayer has already gotten the benefit of those prior tax changes through a reduction in the revenue requirement.  If you don't take into account the current period effects of those prior tax changes, then you're not recognizing the cumulative effect of all of the tax changes on GDP and ultimately our price, pricing formula.

MR. KAISER:  Mr. Thompson, do you have questions?
Cross-Examination by Mr. Thompson:


MR. THOMPSON:  Mr. Packer, I will start with you and just pick up on a couple of points that Mr. Kaiser was questioning you about.

One is with respect to the regulation period that we're discussing here in connection with the IR plan.  Do you agree it is 2008 to 2012?  That's the five-year period we are discussing?

MR. PACKER:  That's the five-year period of incentive regulation.

MR. THOMPSON:  And under ^cost of service regulation, the tax reductions up to and including 2007 have been reflected in Union's revenue requirement?  I think that is what you told Mr. Kaiser.

MR. PACKER:  That's correct.

MR. THOMPSON:  All right.  So the tax reductions, to and including the end of 2007, have been counted.  Would you agree?

DR. WILSON:  What was the word?  Could you repeat that?  I couldn't -- oh, counted.

MR. PACKER:  2007 was a ^cost of service year.  So there was a forecast of what the tax -- taxes would be in that period.

So, yes, there was a -- incorporated into our rates is a forecast of all of the cumulative effect of the prior tax changes.

MR. THOMPSON:  All right.  Mr. Packer, are you familiar with the prohibition against making out-of-period adjustments in matters of rate regulation?

MR. PACKER:  No.

MR. THOMPSON:  All right.  Are you, Mr. Wilson?

DR. WILSON:  No.

MR. THOMPSON:  All right.  Now, let me just direct your attention, if I may, to a passage in yesterday's transcript at page 42.  This was a question Mr. Kaiser was putting to Mr. Shepherd's witness.  Do you happen to have that there?

MR. PACKER:  No, we don't.

DR. WILSON:  No.

[Mr. Penny passes the transcript to the witnesses]

DR. WILSON:  What was the page?

MR. THOMPSON:  Page 42, lines 11 to 18.

Here Mr. Kaiser is, I think, paraphrasing what he thought you were saying, Professor Wilson, when you first testified here.

If you pick it up at line 14, he says:  
"But they are saying we should have confidence that within that time frame ..."

And that time frame is the five-year period for the IR plan, you can see from line 12.  That's 2008 to 2012, and that's the time frame when we're expecting these $80 million of cost reductions.  And Mr. Kaiser says:  
"But they are saying that we should have confidence that within that time frame the full amount of that tax reduction within that time frame, will be captured in the GDP IPI in that time frame."

Is that what you were saying when you first testified here?

DR. WILSON:  Well, not specifically, because I certainly wasn't working with Union's cash numbers.  We were looking at whether or not the impact on -- the percentage impact on the GDP final demand deflator was about equal to the percentage reduction in Union's marginal effective tax rates, and they were in that calculation.

The purposes of this undertaking is in response to many of the questions that have been raised in this hearing about lag effects and anticipatory effects, and so on, and we have tried to address them in these tables.

And, as I said, the division of labour between I and my colleagues - and I also consulted with Professor Mintz by phone on this - and the Union Gas, Mr. Packer and his colleagues, was that we were responsible for looking at impacts on the GDP final demand deflator, taking into account distributed lag effects, taking into account anticipatory effects, doing the kind of sensitivity analysis that we present in table 3.

Mr. Packer and his colleagues took it the next steps to see how that impacted on Union's financial statements.

MR. THOMPSON:  Well, let me come back to you, Mr. Packer, to pursue this a little further.

Can we agree that what we're talking about in this time frame, 2008 to 2012, in terms of the tax reductions, is the $80.51 million, which is the sum of the items shown in line 17 of table 1?  I know that is an estimated number, but that's what all of these calculations are based on.

MR. PACKER:  I would say, based on how the undertaking was framed, that's part of it.  I think what parties were trying to understand is how the impacts tax changes were having on the GDP deflator and the pricing formula compared to that number.

MR. THOMPSON:  But the amount of the reductions that you have used in this analysis is $80.51 million; correct?

MR. PACKER:  That's the calculation under the revenue requirement approach, yes.

MR. THOMPSON:  Right.  And let's assume the question that the Board is interested in is:  How much of that amount is absorbed by reductions in the GDPPI occurring in '08 to 2012 as a result of those tax reductions?

Do you understand the assumption I put to you?

MR. PACKER:  I think I do.

MR. THOMPSON:  I suggest to you that if we look at your table or tables to answer that question, what we look at are lines 9, 10, 11 and 12.  Am I correct, Professor Wilson?

DR. WILSON:  No.  Well, because of the regulatory lag, you've got to take into account the '06/07 GDPPI change, because that is what is being used, as I understand it, in the first year of the IR price cap system.

And because of the -- and these -- so in this table, that total '6/7 is showing up as a 2008 number.  As I indicated, the regulatory lag is built into this table.

The 2012 number would be based on the 2011 over 2010 change, again because of the regulatory lag.

And by saying that, I don't mean -- we know why that's there, because you don't have the data for the year in question.  You have to depend on data from the previous year when you hold your hearing or when you decide what the rate going forward should be.

MR. THOMPSON:  But is not the -- Mr. Packer, the 2007 tax reduction picked up in the 2007 revenue requirement determined by this Board, plus the deferral account, plus a base year adjustment to reflect that amount?  Isn't that how that reduction is captured?

MR. PACKER:  Not appropriately, no.  That's the way --

MR. THOMPSON:  It is counted.

MR. PACKER:  That's the way it is counted in the revenue requirement calculation.  That's only part of the equation.

You have to compare that to how those tax changes are showing up in our pricing formula.  That's why we've presented all of the data, so that you can see that.

MR. THOMPSON:  Well, you have acknowledged it is counted in that exercise.  So let's assume that a number that is important here is the numbers that you have shown at 9, 10, 11 and 12 in these tables.

I just want to follow through how your calculations are done.  So taking the '07/08 tax change that you have described at line 9, you are showing no impact in 2008; correct?

MR. PACKER:  Because of the regulatory lag, yes.

MR. THOMPSON:  All right, or is that because of the filtration-down process?  Mr. Birmingham ham gave evidence to Mr. Kaiser that the change in -- as I understood it, in 2008 wouldn't affect 2008, because it takes time for these things to filter down.  Is that what we're seeing in the blank under column --

DR. WILSON:  If I could just interject here, I think two things are at issue here.  One is just the straightforward, the way it is, the regulatory lag.  The other is, as I mentioned earlier, if we look at the distributed lag effects in our analysis, it does turn out that there is a very small impact in the first year.

Like if we say the ultimate impact is going to be 100, we only get 3 in the first year, so it is a very small impact in the first year.  But given -- it is certainly not going to be relevant to 2008 because of the way the regulatory lag works on the price index.

MR. THOMPSON:  All right.  So let's -- so that for '08, the number, if we're just summing these lines 9 to 12, would be zero.  Right?  That's what the sum of the numbers are?

DR. WILSON:  Yes.  It's --

MR. THOMPSON:  And so the impact of the 8.29 tax change reduction in '08, none of it would be absorbed by any reduction to the GDPPI; correct?

DR. WILSON:  Well, I'm not prepared -- I think what you're doing is --

MR. THOMPSON:  Just --

DR. WILSON:  I am not prepared to say that's correct.  Yes, if you add up a bunch of blanks, it is blank.  But my point -- we have worked this out for 2008.  The result is, it's minus 0.48 percent, when you take into account the tax change in '06-'07 and all previous tax changes.

MR. THOMPSON:  Professor, just assume I am just trying to get the math on the record.  Okay?

DR. WILSON:  Yeah, adding up four blanks is zero.

MR. THOMPSON:  Then if that is the right number, then none of the 8.29 million tax reduction has been absorbed by a change in the GDP IPI, if that is the right number.

DR. WILSON:  Well, I don't agree it is the right number.

MR. THOMPSON:  Accept the math.

DR. WILSON:  If --

MR. THOMPSON:  All right.  Let's move on to the next column.

If the numbers 9 to 12 are the right numbers, the sum of them is negative 0.42 percent, and I make that to be -- if you multiply 0.42 percent times the line 16, which is what you're doing down at line 19, Mr. Packer -- the amount would be 3.66 million, subject to check.

Would you agree?

MR. PACKER:  Sorry, your number was 3.66 --

MR. THOMPSON:  3.66 million.

MR. PACKER:  Your arithmetic is accurate; it appears to be accurate.

MR. THOMPSON:  And that would leave, of the 10.05 million tax reduction, something between six and seven, unabsorbed, if you will, by reductions in the GDP IPI.  Correct?  That's the math.

MR. PACKER:  Sorry.  Can you repeat that, please?  Can you repeat that, please?  I just want to make sure I caught it.

MR. THOMPSON:  Yes.  The tax reduction being presented in this material in 2009 is $10.05 million.

If the GDPPI adjustment is zero, is negative 0.42 percent, that captures $3.66 million of that reduction.

Leaving uncaptured, if you will, something between six and seven million dollars.

MR. PACKER:  Again, your arithmetic appears to be fine.

MR. THOMPSON:  If we go across this column, would you take, subject to check, that the sum of the lines 9 to 12 in column C is 0.10 percent, negative?

MR. PACKER:  Again, your --

MR. THOMPSON:  Would you take that, subject to check?

MR. PACKER:  It's the number that appears on line 9, column C.

MR. THOMPSON:  And that the revenue impact of that is $873,000 or 0.873 million.  Would you take that, subject to check?

MR. PACKER:  Again, your arithmetic seems to work.  You are doing the math correctly.

MR. THOMPSON:  Thank you.  Now, in column D, the sum of the numbers at lines 9 to 12, would you take, subject to check, is 0.16 percent negative, and that produces a revenue of about $1.4 million?

MR. PACKER:  Yes.

MR. THOMPSON:  And that at line E, the sum of lines 9 to 12 is negative 0.18 percent, which produces a revenue of about $1.6 million?

MR. PACKER:  Yes.

MR. THOMPSON:  And would you take, subject to check, that if you sum up the amount of the revenue that's been absorbed by the reduction of GDP IPI, as I've calculated, that the total is $7.53 million?

MR. PACKER:  I haven't kept track of all of the numbers you've given me but I will take that, subject to check.

MR. THOMPSON:  All right.  And that would leave, from the 80.51 million of reductions, about 73 million not covered by reductions in the ^GDP PI.  Would you take that subject to check?

MR. PACKER:  No, I won't.  I am not sure you have run that through the calculations that appear on line 20 and 21.  It seems small.  I'm not sure whether you have captured the cumulative effects properly.

MR. THOMPSON:  All right.  Well, help us with that, then.  The price change that you have -- let's take line 19, just from a conceptual perspective.  That's line 14 times line 16?

MR. PACKER:  Yes.

MR. THOMPSON:  All right.  Then as I understand line 20 is summing up the numbers that appear at line 19, cumulatively.

MR. PACKER:  It's translating the price change into a rate impact, or a -- yes, rate impact calculation.

MR. THOMPSON:  Sorry.  Well, is it not the sum of the numbers that appear in line 19?

MR. PACKER:  Yes.

MR. THOMPSON:  Cumulatively?

MR. PACKER:  Yes.

MR. THOMPSON:  All right.  So that is what I have done with my numbers, the 3.66, 0.873, 1.4 and 1.6.  And I am suggesting to you, subject to check, that it is $7.53 million.  Would you accept that?

MR. PACKER:  I don't think you have taken the arithmetic far enough.  I don't take issue with the arithmetic you have done, but in order to come up with a comparison, a number that can be compared against the 80.5 million, you have to do the calculations on line 21.

MR. THOMPSON:  What is the calculation --

MR. PACKER:  So --

MR. THOMPSON:  Is the line 21 --

MR. PACKER:  So line 20 calculates the annual impact on ratepayers, effectively, and line 21 adds up the annual impact on ratepayers.  So that you get a total that you can compare against the cumulative revenue requirement tax change impact.

MR. THOMPSON:  All right.  Well, so just help me with the -- line 21, 9.80, is that the sum of 7.67 and 2.13?

MR. PACKER:  Yes.

MR. THOMPSON:  And at line -- column C, the 20.84, is that the sum of 11.04, 7.67, and 2.13?

MR. PACKER:  No.  It's the sum of -- 20.84 is -- sorry.  You are correct.

MR. THOMPSON:  Yes, all right.

And column D is the sum of the line, the amounts in lines 20A to D?  Line 21, 35.35 is the sum of those four numbers at line 20?

MR. PACKER:  Yes.

MR. THOMPSON:  And so I suggest to you that, taking my numbers, the 7.53 is equivalent to what you are showing at line 21, based on my math.

MR. PACKER:  Your math is not right.  The first set of numbers you have given me, we dispute the approach and the logic and validity of the approach.

The last set of calculations are just not right.  You have to run the analysis through both line 20 and 21, and it appears as if you are skipping a step.

MR. THOMPSON:  So what would the 7.53 become if we run it through lines 20 and 21, big picture?

MR. PACKER:  There's a fair number of calculations.  I don't feel comfortable giving you that on the fly.

MR. THOMPSON:  Would you undertake to do that for me, take the math that I have of cumulative products of what I call line 14 times line 16, totalling 7.53 million and apply whatever you apply at lines 20 and 21?

I hear you telling me it is going to be a different number.  Am I right?

MR. PACKER:  I think the end result that would be comparable to the 80.5 is different than you have calculated.

MR. THOMPSON:  So my 7.53 will be a different number; is that what you're telling me?

MR. PACKER:  No.  Your 7.53 may be okay, but you need to carry the calculations through to the appropriate end place.

I can take the undertaking.

MR. THOMPSON:  Thank you.

MR. MILLAR:  That's undertaking J6.1.  Could we have the undertaking repeated?
UNDERTAKING NO. J6.1:  FOR TABLES 1, 2 AND 3, MOVE LINE 8 UP INTO THE FIRST GROUP AND RECALCULATE LINES 19 TO 22.


MR. THOMPSON:  Well, my understanding is that Mr. Packer is going to take what I calculate to be the cumulative impacts of $7.53 million and show how that would be impacted by the type of calculations that have been done at lines 20 and 21.  Have I paraphrased that fairly?

MR. KAISER:  Is one of the differences, Mr. Thompson, in your analysis, you start at line 9; that is to say the tax changes 2007/2008?

MR. THOMPSON:  That's right.

MR. KAISER:  Whereas when we go down to line 19 and the 53 million, it's the tax changes starting at line 8?  In other words, the 2006 change is in those figures?

MR. THOMPSON:  Yes, I understand that.

MR. KAISER:  That's one difference between the two of you, I think.

MR. THOMPSON:  My equivalent to line 14 would be zero in column A, negative 0.42, negative 0.10, negative 0.16, and negative 0.18 percent, and that's all I'm asking.

MS. CHAPLIN:  I think, Mr. Thompson, you are wanting them to redo lines 19 through 22 using only lines 9 through 12?

MR. KAISER:  Correct.

MR. THOMPSON:  Yes.

MR. PACKER:  Stated another way, you would like line 8 moved above the subtotal line on line 7, and that's what we will do.

MR. THOMPSON:  Yes.

DR. WILSON:  Then ignore all of the effects of the previous tax changes?  So what we're doing here is, in terms of the changes, the tax changes that are occurring in those four years, we're not getting their full impact, because we are applying a distributed lag, and there's a big tail there that disappears, and you're not taking into account the big tail from the previous tax changes, just to make clear the kind of calculation you have asked for.

MR. THOMPSON:  So do we understand the undertaking now, Mr. Packer?

MR. PACKER:  I do, yes.

MR. THOMPSON:  Mr. Millar, are we okay?  All right, thanks.

With respect to table 1, Professor Wilson, the difference between table 1, as I understand it, and table 3 is table 3 has longer lags?

DR. WILSON:  That's right.  The whole distribution is shifted.  Basically it's -- instead of a ten-year full adjustment period, it is 13.

MR. THOMPSON:  And am I correct that table 1 is a sales tax simulation?

DR. WILSON:  Is a sales tax.

MR. THOMPSON:  Sales tax simulation.

DR. WILSON:  It is derived from a sale -- an analysis of sales tax reform, as I explained it.

You couldn't, for example, use an analysis of GST changes to do this kind of work, because it wouldn't have any impact on investment analogous to what the corporate tax changes do.

But if you do change the sales tax burden on investment, you do have an effect on marginal effective tax rates on capital.

So in that case, using this particular simulation is not a bad approach, in our opinion, to trying to get at the lag patterns.

MR. THOMPSON:  But does it equate to a corporate tax reduction?  I got the impression - and I may be incorrect - when you folks were testifying previously, that the filtered-down effect of a corporate tax reduction is slower than the filtered-down effect to the GDP IPI of a sales tax reduction.  Did I understand that correctly?

DR. WILSON:  Yes, you did.  Let me just make a clarification on that.  I think I was referring to things like GST.  If we cut sales taxes, the pass-through to the prices will be very quick.

Now, if we look at the GST, it is almost -- it's close to being 100 percent tax on consumption.  So we're looking at the impact on consumer prices.  It is very quick.

If we look at the Ontario retail sales tax, this not only taxes some final goods and services that are bought by consumers, but there are taxes on business inputs and capital goods as part of that tax.

If that tax were simply reduced, what we would see is a very quick pass-through on consumer prices and a quick pass-through on to prices of capital goods, but then it would take time before the change in the price of capital goods filters through to investment.

What we were dealing here was not a cut in this tax.  It was actually more of a reallocation.  By going to a value-added tax approach, you were shifting the burden of the tax on to consumption and off of investment and some other items, consumption and housing, I might add.

So, again, I stand by -- since we're looking at the indirect effects of this flowing through on to investment, I think the pattern of investment response would be very similar to that for a corporate tax change.  But I can consult with my colleagues on that and see if we think we want to make any changes.

MR. THOMPSON:  Well, I am just trying to get from you whether table 3 is more representative of a corporate tax filtration rate, so we should be looking at it, or whether it is table 1.

DR. WILSON:  No.  Table 3 was simply, as I explained it, a sensitivity analysis.  There is uncertainty about the lags.  They're empirically estimated, and we're saying, Well, suppose the lags are longer?  That's it.

Now, if you want to -- you know, someone might want to interpret that as being longer because it is a corporate tax change, but I don't think we're going to see a big difference here between a response to a corporate tax change.

By the way, this is with no anticipatory effects, the -- this is a sales tax change that comes in on day 1.  Nobody knew it was coming, and now they're adjusting to it.

So I think it would be similar to a corporate rate reduction that had a similar effect on marginal effective tax rates, announced on day 1 with no future changes there.

MR. THOMPSON:  Thanks.

Now, table 2 is, as I understand it, table 1 with anticipatory effects?

DR. WILSON:  Yes.

MR. THOMPSON:  So could I ask you, by way of undertaking, just to parallel the undertaking you have given with respect to table 1, which is to move line 8 up into the first group and recalculate lines 19 to, I guess it is, 22?

Could I ask you, Mr. Packer, to do that same exercise for tables 2 and tables 3?

MR. PACKER:  Yes.  We can make that all one undertaking.

MR. THOMPSON:  Same undertaking, okay.  Thanks.

MR. MILLAR:  That will be under J6.1, then?

MR. PENNY:  Yes.

MR. THOMPSON:  So what we will get at the end of the day -- I am just looking at lines 21 and 22, column E.  My paraphrase of what you are showing on line 21, 53.05 million, is the amount of the 80.51 that is absorbed, if you will, by reductions in GDP IPI, based on your calculations.  Is that a fair way to characterize it?

MR. PACKER:  No.  In order for that to be accurate, you would have to add with the assumption that prior period tax changes are having no impact on the current period GDP deflator.

MR. THOMPSON:  Okay.  Under that assumption, what you are showing for the period 2006 to 2011 is that there will be rate reductions, all things being equal, of 53 million and some change, up to -- as a result of changes in the GDP IPI with respect to the 80.51 million of estimated tax reductions.

Line 21, column E, compared to line 18, column E.  That's what you are showing?

MR. PACKER:  That's what we're showing, yes.

MR. THOMPSON:  So the unabsorbed, if you will, on your calculations is 27.46 million, under these assumptions.

MR. PACKER:  That's correct.

MR. THOMPSON:  All right.  And those numbers will be different when you do my -- answer these undertakings?

MR. PACKER:  Yes.

MR. THOMPSON:  Okay.  Under those assumptions, does the 27.46 qualify for Z-factor treatment?  It's not being captured by any changes in the GDP IPI.  It seems to me it must.

MR. PACKER:  I just referred to the settlement agreement and the criteria that would be applied to Z-factors.  I think the main criteria that we're -- that comes into play here is whether it's -- whether these changes are captured within the price cap index, and secondly, the materiality threshold.

I guess under your set of assumptions and the impacts that are being shown here, it appears as if it would.

MR. THOMPSON:  Now, my last question, then, is in terms of implementing any Z-factor treatment that the Board finds to be appropriate, let's assume it's either your line 22 or my line 22 where we have numbers at each column that exceed the materiality threshold of $1.5 million.  Should we be doing this, in Union's view, on a year-by-year basis?  Or should we express the unabsorbed amount, if you will, as a percentage of the 80.51, and approach it that way?

MR. PACKER:  I think Mr. Birmingham testified earlier that he would prefer that we do the calculations annually, using the actual numbers that appear in each year.

So consistent with that, if the Board was to make an adjustment, I think the preference would be that it would be done annually, rather than having some predefined calculation that smoothed it out.

MR. THOMPSON:  All right.  Thank you very much.  Those are my questions.
Further Questions from the Board:


MS. CHAPLIN:  Mr. Packer and Dr. Wilson, I actually have a question of clarification before you leave for now.

On the determination of the 80.51 million from E3.1.1, that was an examination just of the corporate tax changes?  Am I correct?

MR. PACKER:  Well, it captures the three tax changes that have been raised in the context of this proceeding, ^CCA rate changes, the income tax rate changes and the capital tax rate changes.

MS. CHAPLIN:  Okay.  But then looking up at the top half of the table, Dr. Wilson, was I correct in understanding your explanation for the large adjustments that show up on lines 8 were related to a GST impact?  Did I understand that correctly?

DR. WILSON:  Line 8 --

MS. CHAPLIN:  Yes.  You said 0.2 of that 0.24 was related to the GST?

DR. WILSON:  Yes.  That very first year included a 0.2 percent effect of the GST cut, so that meant that only 0.5 percent was from the first year effect of the 2006-2007 cuts on corporate taxes.

I mentioned earlier that the impact in the year of the change, in our model, is quite small.

MS. CHAPLIN:  Okay.  Looking along line 8 -- and it's minus 0.21, minus 0.28, minus 0.24 -- is the impact of that GST change being carried through in each of those years?

DR. WILSON:  The GST in -- the first GST cut was in the middle of 2006.  So what that did is it raised the -- it cut the inflation rate by two-tenths of a point on this deflator in that year, and another two-tenths for the following year when it was fully in effect.

The cut in 2008, because it came in on January 1st, would have a negative 0.4 percent impact on the deflator that year.

But then there are no future effects on rates of change.  There is a cumulative effect altogether on how the thing's adjusted, if we're looking at the cumulative price level impact of minus 0.8.

MS. CHAPLIN:  Okay.  Now, does that make -- I guess, can you explain to me why it makes sense to include the effects of the GST change on the top half of the table, when in fact you are using it to compare against an impact that's not related to the GST change?

DR. WILSON:  What were we're doing is combining here -- the GST is a big impact.  So we didn't think we should leave it out of the analysis, in terms of how Union's price cap is operating, because it does get into the GDP final demand deflator.  And our estimate, that's about -- a one percentage point cut would be about a 0.4 percent on that particular index.  The --

MS. CHAPLIN:  Aren't we just trying to look at the impacts of corporate tax changes?

DR. WILSON:  We're doing both.  So what we're doing here is taking the impact of corporate taxes and distributing them using that distributed lag mechanism based on the investment pattern, based on the realized capital in place.

The assumption is when capital is in place, then the prices come down to the extent that the capital has been put in place.  So you are not going to get the full price impact until a full ten years have gone by, and you will have very small impact in the first year.  You actually start to get bigger -- the biggest impacts are in the third year, two years after the year of impact of implementation.

So that we distribute the price effects of the corporate tax changes, using the distributed lag mechanism. But then, for those years where the GST kicks in, those two to three years, we then add the effects of the GST to them, or subtract them, as the case may be.  So we get a larger negative impact in 2005-2006, 2006-2007, 2008 over 2007, from those, and then those are added in.  Otherwise, it doesn't affect the picture.

MS. CHAPLIN:  Okay, thank you.
Further Cross-Examination by Mr. Thompson:


MR. THOMPSON:  Mr. Chairman, one other question I forgot to ask, if I might be permitted?

Professor Wilson, just with respect to the numbers that you have in your tables, lines 1 to 6, am I correct that these numbers do not reflect the impact on GDP IPI of any measures that the government or Bank of Canada have taken in that time frame to increase GDP IPI?  

DR. WILSON:  That is correct.  These are the partial impacts of the set of tax changes we have examined.


MR. THOMPSON:  Just for my edification, what would be an example of the kind of action the government would take to -- that would have the effect of increasing GDP IPI?  Is that like increasing interest costs, the major example?


DR. WILSON:  Well, when the Bank of Canada adopts a restraint of -- adopts monetary restraints, they typically raise their short-term interest rates.  So you will have a temporary rise in interest rates, and then, as that leads to weaker demand conditions, it will filter through on to wage and price inflation and maybe a decline in output with it.


There are other measures.  Like, there are fiscal restraining measures that could be adopted, as well.  The government could be raising other taxes, for example, at the same time.  That hasn't occurred.  I'm just saying -- in this period.  But there are other ways you can restrain.


You certainly could have expenditure restraints.  These were very important in the mid '90s, restraining fiscal policy which would have a negative effect on -- sorry, you were looking for positive effects.  Let me take that back.


MR. THOMPSON:  Right.


DR. WILSON:  Other tax reductions could be having positive effects on inflation.


MR. THOMPSON:  All right.  Thank you very much.

Further Questions from the Board:


MR. KAISER:  Professor Wilson, I just have one question.  The model shows us that in the 2008 to 2012 period, there will be a cumulative rate impact of $80.72 million, assuming we take into account the prior tax changes.


Lo and behold, that is pretty close to the actual tax saving that we saw earlier going from 8 million in 2008 to 23.9 million in '12, totalling 80.5 million.


Is it correct to say, though, that this model doesn't work, if the facts were that there were no prior year tax reductions?


DR. WILSON:  If there had been no prior year's tax reduction, then the first set of numbers at the line 7 would be eliminated.


MR. KAISER:  Yes.


DR. WILSON:  And I think you get the results that are in the bottom part of the table.  The analysis on lines 19 to 22 would be relevant.


So if, in fact, there had been no previous tax cuts at which -- having these distributed lags flowing forward, then what you would be left with, looking at this, with applying the distributed lags to the current -- you know, recent, very recent, current and future tax rate changes, you would be coming up with the numbers shown on lines 19, 20, 23, where the offset would be the 53 billion -- 53 million, rather than the 80 plus.


MR. KAISER:  But I take it the answer to my question is the model doesn't work in those circumstances?


DR. WILSON:  Sorry?


MR. KAISER:  The model doesn't work.  We're not going to recover the full amount of the tax reduction?


DR. WILSON:  No, the model works.  That's what the model would say, if there had been no -- unless I am misunderstanding when you say the model doesn't work.


If all of the -- if there had been no tax changes, there would be a lot of zeros in the upper part of the table and we would wind up with the results reported on line 21, because that's based on a selective period using the model.


MR. KAISER:  If the object -- if there is a tax reduction of 80 million, nobody disputes that, over the period 2008 to 2012 -- nobody disputes that, and the question is whether we can ignore that, because it will be captured in that period in the deflator.  I realize a deflator is economy wide and all of that, but that is the principle.


And the model shows us that that only works if there's prior year tax reductions.  The model wouldn't support that conclusion without those prior year tax reductions?


DR. WILSON:  Well, it's a combination of the particular pattern going forward, the nature of the tax cuts, and so on, and what happened in the past.  Given the pattern going forward, had there been nothing in the past, then the model would say there's going to be a gap, that the GDP for this set of tax changes isn't going to fully pass through within the time frame.


Then if you look at -- if we said, Well, going forward we should take into account, make some allowance for anticipatory effects, then you could, again, look at the same section on table 2, and, ignoring the past, you would come up with an offset of 60 billion from the -- sorry, I'm too used to aggregates.  Sorry, 60 million.  At least I didn't say what's a million.  60 million, if you take into account the anticipatory effects, but ignore the past.


MR. KAISER:  Thank you.


MR. SHEPHERD:  Mr. Chairman, I don't have any questions right now, but I wonder if, in the interest of efficiency, I could ask on the record for some pieces of data which I already know we will need.  So it might be useful to just get them out now.  Is that all right?


MR. KAISER:  All right.  Do you have any problem with that, Mr. Penny?


MR. PENNY:  Let's hear what they are, Mr. Chair.

Further cross-examination by Mr. Shepherd:


MR. SHEPHERD:  There are three.


The first is:  Could we have these three tables in Excel format, please, so we can do some sensitivity analysis.  That's the first.


The second is:  Is it possible for you to do these three tables, excluding everything other than the corporate tax changes during the IR period?  That is, exclude everything prior to 2008 and exclude the GST, which Ms. Chaplin has asked you about, so that we're only looking at those $80.5 million.  Can you do these tables that way?


DR. WILSON:  Well, with respect, yes, we can do it, but I frankly don't see the point.  And every time we do a table, there is more work.


I mean, excluding the GST means you have a big impact on the final demand deflator that you are going to ignore in this year.  And excluding these past changes, to me, is very asymmetrical.  We're using a distributed lag mechanism, which is cutting off some of the effects of the current changes, and then we're going to say, Well, the stuff that occurred in the past, we can ignore that.  I don't think that is the appropriate calculation.  But if the Board wants it to be done, we can do it.


I certainly would think the GST has to be there, but that's -- otherwise you're not -- you're not getting the right impact in 2008 on this particular deflator.


If Union's price cap target had been the core CPI, then that would be a different matter, because the GST would have no impact on that, but we know the GST does have an impact on the overall CPI and also on the final domestic demand deflator.


MR. SHEPHERD:  The third piece of information that I wonder if the witnesses could provide is I know that when the focus model is run -- I know it wasn't run for this purpose.  It was run for another purpose, but when it is run, you run it two ways.  You run it with and without a monetary policy response.


So I assume that when you did your sales tax study, you did it with and without the monetary policy response, and could we have that one, as well, the one with the monetary policy response?


DR. WILSON:  I will have to consult with my colleague, Peter Dungan, on this.


I think all of the runs we did was with a monetary policy adjustment.  I don't think we did any.  We may have one, but it's a matter of whether we still have it and these are not easy things to do.


So if we have it, we can share it with you.  If we don't have it, I don't think we can get it done.


MR. PENNY:  Here's the issue, from my perspective, Mr. Chair.  The Excel is not an issue.  We can do that.


The second two, in particular, it seems to me this all arose from a question that Mr. Shepherd asked.  We gave the answer.  Now Mr. Shepherd is not happy with the answer and he wants us to go down and do some more work.


As I said at the beginning of this whole piece, if Mr. Shepherd wanted to prove a point, he could have done it by calling a witness.  He had a witness here who apparently explicitly was told not -- or at least couldn't do empirical calculations.  So to now be sending this back over and over again to Union to do his calculations, it seems to me, is unfair and not appropriate.


But if the Board thinks it would be useful, of course we will do what we can to help.


MR. KAISER:  Mr. Penny, see what you can do.  Admittedly it is a matter of argument whether -- it is obviously be an issue here about the prior tax changes --


MR. PENNY:  That is really the point, I guess.


MR. KAISER:  -- and whether GST should be in that or not in that, but see if you can -- just to move things along, see if your witness can be of assistance, and then Mr. Shepherd can argue whatever he wants to argue.


MR. PENNY:  Yes.  Thank you, sir.  We will see what we can do.

MR. KAISER:  Are you finished, Mr. Thompson?

MR. THOMPSON:  Yes, thanks very much.

MR. KAISER:  I take it nobody else has questions for this panel at this time; or am I wrong?  Mr. Gruenbauer?

MR. GRUENBAUER:  Yes, with your indulgence, sir, just a couple of quick questions for Dr. Wilson.  
Cross-examination by Mr. Gruenbauer:


MR. GRUENBAUER:  Dr. Wilson, I act for the City of Kitchener.  Can you hear me all right?

DR. WILSON:  Yes, I can hear you.  I am just making eye contact.


MR. GRUENBAUER:  Okay.

MR. KAISER:  He can't see you, but he can hear you. 
MR. GRUENBAUER:  Thank you.  I understand the micro numbers for Union pretty well.  I am just trying to get a sense of placing the macro numbers in context.

My line of thinking was similar to Ms. Chaplin's.  Is there some way to reconcile dollars with percentages?  That's what I would like to explore very quickly.

Is the final domestic demand for Canada, is that roughly $1.53 trillion?  Have I got the right order of magnitude?

DR. WILSON:  I would have to look it up.  I mean yes, it is in that ballpark, let's put it that way.  It might be a trillion, but --

MR. GRUENBAUER:  I am not looking for precision.  I am just trying to get a sense of magnitude.

Now, if I were to move from percentages on table 1 to dollars, in terms of final domestic demand, if I look at the 2008 column and the line 15, is it proper to take that 0.48 percent against a number like $1.5 trillion and say, in dollar terms, the impact of these tax changes would have resulted in an absolute level of final domestic demand that would be reduced by that percentage times 1.5 trillion?  Or am I off-base to try to do that?

DR. WILSON:  This is the estimated partial effect of the tax changes on the deflator, and let's say -- I had a one -- okay, one, 300.  I get 6 billion.

MR. GRUENBAUER:  What I did is, I just very quickly --

DR. WILSON:  That's about right, because when we had the GST impact of about 0.4, that was based on -- it's about a 6 billion, yes.

MR. GRUENBAUER:  Okay, fair enough.  I did something similar at line 15 from year 2008 right out to 2012.  I will just put those numbers out on the record.  Rounded, I got $7 billion, then 13 billion, then 9 billion, then almost 9 billion, and then seven-and-a-half billion in 2012, as absolute dollar reductions in the final domestic demand as a result of these tax changes.

The question that struck me was, particularly in 2008, in terms of corporate tax revenue that the government receives, those seem like awfully big numbers.

My question would be, in 2008, at a macro level, the three changes that Union is talking about, the CCA change, the corporate tax change and the capital tax changes, at a macro level, do those things sum up to 7 billion, 13 billion, 9 billion --

DR. WILSON:  I will have to, again, I will look at what our simulations shows.  Just one thing I should have said right at the beginning -- and I apologize for not being quicker off the mark on this -- these are the impacts on the deflator.  They're not the impacts on nominal GDP.

Real GDP will be going up as a result of the productivity gains from the effects of the tax cuts that are flowing through here.

So we could roughly think of it that the nominal GDP isn't changing.  What's happening is an improvement in productivity, real GDP is rising by roughly 0.48 percent.  And because real GDP is up and nominal GDP is unchanged, the way you get the deflator is by dividing nominal by real.

So don't think of it as: over this pattern, we're going to get a cumulative reduction in nominal GDP.  As a first assumption, I would say nominal GDP isn't affected.  Real GDP moves roughly offsetting the decline in prices.

MR. GRUENBAUER:  I appreciate that.  I guess I was making a simplifying assumption, myself, in keeping that jumping off point at the $1.5 trillion at a macro level, similar to what Mr. Packer was saying about line 16 at the micro level for Union Gas.  It's being kept constant for purposes of showing these numbers.

So that was my only logic in doing it that way, but I understand your answer.  I thank you for it.

Thank you, sir, those are my questions.
Procedural matters:


MR. KAISER:  Thank you.

Mr. Millar, we will take the morning break and come back and hear from your witness.

Mr. Penny, while we're doing that, I understand Mr. Shepherd had a problem on the 14th, even though you are available and Dr. Wilson was available.

Can you check with your friends and see if you could sit Thursday morning?

MR. PENNY:  This Thursday?

MR. KAISER:  Yes.  And Dr. Wilson, of course.

MR. PENNY:  Yes.

--- Recess taken at 11:14 a.m.
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--- Upon resuming at 11:45 a.m.

MR. KAISER:  Please be seated.
Procedural matters


MR. PENNY:  Mr. Chairman, just on the question of scheduling.  Unfortunately, Mr. Wilson is not available on Thursday.

I wonder if we could return to the 14th.  I am the first one to say that family is important, but it did seem to me that this was -- it was important to get this done and that people ought to be stretching to find a place to do it, and I wonder if -- I hear Mr. Shepherd indicating that he might have a couple of hours on this issue, but whether we could revisit that as a possibility.

MR. KAISER:  What about that, Mr. Shepherd.  If we start, say, at 9 do you think you can --

MR. SHEPHERD:  No, Mr. Chairman, I will be out of town, so I won't be available.

MR. KAISER:  You are not available at all?

MR. SHEPHERD:  Obviously, the Board can proceed without me.

MR. KAISER:  I understand that.  What about Friday, gentlemen?

MR. PENNY:  Friday works.

MR. KAISER:  Friday works?

MR. PENNY:  Yes.

MR. SHEPHERD:  I'm available Friday.

MR. KAISER:  Does that work for you?  All right.  I think we will be able to make some juggling on our side.  Is that fine, Dr. Wilson?

DR. WILSON:  As long as we can start first thing and I am clear by noon.

MR. KAISER:  By noon.  Can you handle that, Mr. Shepherd?

MR. SHEPHERD:  Sure.

MR. KAISER:  Let's proceed on that basis.

MR. MILLAR:  Maybe we will start at 9 o'clock.

MR. KAISER:  Friday, out by 12.  Is your witness ready?

MR. MILLAR:  Yes, Mr. Chair, Dr. Lowry is here to present evidence today.  Perhaps he could be sworn.

MR. KAISER:  While that is happening, gentlemen, we are thinking of having oral argument on the 15th.  Would that suit you?

MR. PENNY:  I think so.  I would like to double-check my calendar, but I think so.

MR. MILLAR:  Mr. Chair, did you mean argument-in-chief or all argument?

MR. KAISER:  All argument.  Those that can't show up can file a written argument by noon the previous day.
BOARD STAFF - PANEL 1

Dr. Mark Lowry, Sworn
Examination-in-Chief by Mr. Millar:

MR. MILLAR:  Thank you, Mr. Chair.  Dr. Lowry is here today to present his evidence.  If I could just provide a little bit of context as to why we have presented Dr. Lowry.


The Board Panel may be aware that Dr. Lowry was originally hired to advise Staff with regard to incentive regulation, and, ultimately, he wrote a lengthy report on the X-factors that would be appropriate for Union and Enbridge.

Originally, he hadn't been asked to specifically address this Z-factoring and taxes issue, because it wasn't necessarily a live issue at the beginning of the hearing.

However, when it became apparent that we were going to be conducting a second phase to address this issue, there was some talk back and forth with some the parties, and I think it was understood by Staff that there was an interest in having Dr. Lowry's view on this subject known. 

So to facilitate that, we asked him to write a report outlining his views on this issue, and that's what he has done and that's what he is here to speak to today.

So I will start.  Dr. Lowry, you filed your resume in this proceeding quite a while ago.  I have produced copies of it here today and I have presented them to the Panel.  I don't know that it needs to be marked as an exhibit again, because it is in fact already on the record, but I do have copies here, if anybody needs to see it.

Do you have a copy of your CV with you, Dr. Lowry?

DR. LOWRY:  Um...

MR. MILLAR:  I think you may have left it here, so perhaps I will bring you over a copy.  If anyone else needs copies, we have those.

DR. LOWRY:  I have more than a passing familiarity with my life history, so...

MR. MILLAR:  Of course you do.

Dr. Lowry, we will start with your work experience.  Can you tell us what your current job is?

DR. LOWRY:  Yes.  I am the -- a full partner and manage the Madison office of the Pacific Economics Group.

MR. MILLAR:  How long have you held this position?

DR. LOWRY:  About ten years.

MR. MILLAR:  And what exactly is it that you do for Pacific Economics Group?

DR. LOWRY:  The lion's share of my time is spent managing projects having to do with either or both of incentive regulation and statistical benchmarking, which have in common a lot of statistical cost research.

MR. MILLAR:  And prior to working for PEG, I see that you worked from 1989 to 1998 for Christensen Associates, first as a senior economist, and then from 1993 as the vice president; is that right?

DR. LOWRY:  Yes.  Christensen is an economic consulting firm that is also based in Madison, and in those years I managed their regulatory strategy group and pretty much did the same things that I do today at PEG.

MR. MILLAR:  Thank you.  I see from 1982 to 1988 you held various academic positions?

DR. LOWRY:  Yes.  After getting out of grad school, I for a while was an assistant professor at the department of mineral economics at Penn State, where I did a lot of empirical research analyzing various industries, and taught courses primarily in the area of energy economics.

MR. MILLAR:  Thank you.

DR. LOWRY:  I might also just note I was a visiting professor at one time at HEC in Montreal. 

MR. MILLAR:  Turning briefly to your education, I see you are a Ph.D. in agricultural and resource economics from the University of Wisconsin.

DR. LOWRY:  Yes.

MR. MILLAR:  You also have a bachelor's degree in Ibero-American studies from the same institution?

DR. LOWRY:  That's right.

MR. MILLAR:  If I could turn just quickly to some of your experience, your work, more specifically into your work experience with incentive regulation.  Have you had experience in developing incentive regulation plans for energy utilities?

DR. LOWRY:  Yes.  I have been the company witness for probably the majority of plans, IR plans, that have been proposed in North America that involve the use of input price and productivity research.

In addition to that, I have advised a number of other utilities on incentive regulation, or, as we sometimes say, "alt reg" strategies.

MR. MILLAR:  Thank you, have you appeared before regulatory tribunals to give expert evidence on incentive regulation?

DR. LOWRY:  Yes.  I lost count, but I think I've testified on IR issues over 20 times.

MR. MILLAR:  And were you qualified as an expert in these proceedings?

DR. LOWRY:  Wherever oral testimony actually occurred.  Sometimes cases are settled.  Sometimes I am not asked to the witness stand, so...

MR. MILLAR:  But whenever you've been called --

DR. LOWRY:  Whenever -- otherwise, yes.

MR. MILLAR:  Have you ever appeared before the Ontario Energy Board?

DR. LOWRY:  Yes.  I have been before the Board three times that I recall, two for Enbridge Gas Distribution and one for Hydro One Networks, and in all of those cases it was on statistical benchmarking issues.

MR. MILLAR:  So those ones weren't specifically about incentive regulation?

DR. LOWRY:  No.

MR. MILLAR:  But some of the other tribunals you have appeared before, you did speak directly to incentive regulation?

DR. LOWRY:  Yes, on many occasions.

MR. MILLAR:  I don't want to go through this in any great detail, but I understand you have published in the field of incentive regulation?

DR. LOWRY:  Yes, I have, although I have been so fortunate to be able to do a lot of the actual path-breaking work to develop these plans that I probably haven't emphasized that as much as I could.

One of the articles that comes to mind that probably is most germane to this proceeding would be an article in Energy Law Journal that I wrote that does talk about Z-factors.

MR. MILLAR:  This case about incentive regulation, but of course there is also a strong tax element to the second element, the second phase of the hearing, if I can call it that.

Do you have any particular expertise with regard to Canadian tax law or Canadian tax policy?

DR. LOWRY:  No, I do not.

MR. MILLAR:  Thank you.  Mr. Chair, I am about to turn to Dr. Lowry's evidence, but before I do so, I tender him as an expert in the field of regulatory economics and incentive regulation.

MR. KAISER:  Any objection, Mr. Penny?

MR. PENNY:  No, sir, not at all.

MR. KAISER:  Thank you.

MR. MILLAR:  Dr. Lowry, you filed a number of reports in this proceeding, but the part that is relevant for today's discussion is your report entitled "Z-factoring Pervasive Corporate Tax Reductions" dated February 8th, 2007.

DR. LOWRY:  That's right.

MR. MILLAR:  Was this report prepared by you or under your supervision?

DR. LOWRY:  I wrote that report.

MR. MILLAR:  Do you adopt this evidence for the purposes of this proceeding?

DR. LOWRY:  Yes, I do.

MR. MILLAR:  You also filed certain interrogatory responses related to the Z-factoring issue?

DR. LOWRY:  Yes.

MR. MILLAR:  Were these responses prepared by you or under your supervision?

DR. LOWRY:  Yes.

MR. MILLAR:  Do you adopt them for the purpose of this proceeding?

DR. LOWRY:  Yes.

MR. MILLAR:  Okay.  Thank you.

I am going to turn to the substance of your report.  I don't intend to go over this in any detail, but I am wondering if, in a couple of minutes or less, you can provide a high-level overview of the conclusions of your report.


DR. LOWRY:  Yes.  Well, what I was trying to do in the report was to provide some context for the issue of the possible Z-factoring of pervasive tax cuts.

I wanted to talk first of all what Z-factoring is all about.  It is something that may be appropriate if a price cap or revenue cap index is encharged with adjusting prices for developments in business conditions, and is, for some reason, unable to do so correctly.

When that is done, it is important, in theory, that there not be a double-counting because the price cap index could very well pick up some of the change in business conditions that is affecting the company's unit cost.

So it is important to net that off, and even if that weren't true, that's what is in the settlement agreement.  It's very clear that is what is expected to be done.

Now, Z-factoring is certainly an important part of incentive regulation.  It can make for more just and reasonable outcomes, and it can reduce some needless operating risks that might make a utility less willing to embark upon a PBR plan.


But it also greatly complicates things.  And if part of the goal of incentive regulation is to keep things fairly simple, then there is a certain burden, particularly, in my own view, on the petitioner, to come up with very good evidence that there is a warranted Z-factor that is not double-counting.

Now, as I look at this particular case, I think it is a perfectly legitimate area for a Z-factor discussion.  For one thing taxes were not Y-factored, so nominally, it is the responsibility of the price cap index to adjust rates for changes in the tax rates.

And obviously, a GDP IPI is not expressly designed to track the input price trend of a gas utility, so it is possible that it doesn't do a perfect job with that.

As for the materiality consideration, I have seen numbers thrown around here as high as $80 million.  Well, if even a quarter of that were to be Z-factored, that would easily pass the materiality threshold.  So obviously, there is nothing wrong with having a discussion about this.

But there can be a little question but that the GDP IPI is going to pick up a substantial portion of the effect of a pervasive tax rate cut such as is under consideration here.  So it then becomes very important for the petitioners to make a very good case that it's done, nonetheless, so imperfectly that there is a need for some type of a rate adjustment.

So I say in the report, I use the report (sic) "solid evidence" at one point.  At another point I say "empirical evidence".  Let me just clarify that.

By "empirical", I just mean that you have to be able to hang your hat on some type of a sharing percentage              e, by some means, maybe a reference to some study or something, and not just assert that a very high percentage is warranted.

Now, in response to some interrogatories, I made a few other comments that I might just mention.  One is that I definitely, independently came to the conclusion that this whole issue of delays -- lag effects, you might say -- is a really complicated issue, because it is true that if there are lag effects that are going to mean that there's going to be inflationary impacts, a delay in the pass-through of the tax cut to the GDP IPI affect, well, then if there were past tax cuts, then that affects things today, as well as the delay in today's tax cuts for the future.  It is legitimate to consider both of those simultaneously.

Also, if five years from now, Union through a rate case passes through 100 percent of the tax savings, but the GDP PI for the next plan is still slowed by these tax cuts, then that is a potentially Z-factorable claim for Union.

So, I really kind of think that it's best to stay away from Z-factors based on delayed effects.  At least in this case, where there were some pretty good size tax cuts in the previous five years.

MR. MILLAR:  Thank you for that.  I am going to move on to the other experts now.  Before I do that, is there anything else you wanted to add on your own initial report?

DR. LOWRY:  No.

MR. MILLAR:  Okay.  Since you filed that report, you have received reports from Dr. Loube, Dr. Georgopoulos and a reply filing from Doctors Mintz and Wilson; is that right?

DR. LOWRY:  Yes.

MR. MILLAR:  You have had an opportunity to read these reports and the related interrogatory responses?

DR. LOWRY:  Yes.

MR. MILLAR:  And have you also had a chance to review the transcripts of the oral evidence of these experts?

DR. LOWRY:  Everything except the Georgopoulos transcript, which I might read over the lunch hour.

MR. MILLAR:  Okay, thank you.  Why don't we start with Dr. Loube, as he was up first.  Maybe I will put it to you as simply as this:  What were your views of Dr. Loube's report and his evidence?

DR. LOWRY:  Well, I think that Dr. Loube did make some constructive comments.  He did a nice job of stating that the focus of Mintz and Wilson on a marginal effective tax rate is not enough to claim 100 percent pass-through or to claim a zero -- advocate a zero pass-through, i.e., no Z-factoring at all.

That one must consider additionally the issue of tax incidence, and that just because a tax is levied on a corporation, doesn't imply that 100 percent of that ultimately sees its way to the customer.

He mentions a number of areas where there could be a problem in this regard, including imperfect competition; the elasticity of demand for a product whereby, for example, if there is a tax cut that lowers the price, that people will consume more.  He also mentions the issue of whether or not many goods and services consumed in Canada are treated in international markets and that that might provide some resistance of price changes to any unit cost reductions that result from the tax cuts.

Dr. Loube also advocates, I believe, a 75 percent Z-factoring, and I didn't find his evidence particularly persuasive of that amount.

MR. MILLAR:  Why is that?  Why did you have trouble with that 75 percent?

DR. LOWRY:  Well, I just didn't think he provided a good enough substantiation that that was the right number.  This is just generally a problem with this evidence; the witnesses have raised some issues, but they haven't done much to substantiate any particular number and I think that is a legitimate issue for the Board to consider.  As it is always is.  Well, you know, has there really been a good enough case made to warrant the change?

I mean think of what it would be like if it was Union Gas that came in here asking for an $80 million increase in their revenue requirement.  I think the evidentiary standards would be very high in that case.

MR. MILLAR:  If we could turn to -- anything else you would like to add on, Dr. Loube?

DR. LOWRY:  No.

MR. MILLAR:  Dr. Georgopoulos, to the extent that it doesn't state the same thing that Dr. Loube is stating -- first, I understand you haven't read all of the transcript yet, but you did read the report and the interrogatory responses?

DR. LOWRY:  Right.

MR. MILLAR:  What are your comments on Dr. Georgopoulos's work?

DR. LOWRY:  Dr. Georgopoulos also makes some general and brief comments about possible reasons that there might not be 100 percent pass-through of tax cuts to a GDP IPI slowdown.

He uses some of the same arguments as Dr. Loube, and then he adds a couple.  For example, this whole idea that the Bank of Canada may do something by way of monetary policy that could offset the effect.  He also talks about the general phenomenon of price stickiness.


I didn't think that the price stickiness argument added much, because as I have already said, I am not so sympathetic to the idea that these lag effects or delayed affects matter very much.  I also didn't think he gave a very resounding endorsement to the idea that even the monetary policy thing was a real concern, in his brief comments.

MR. MILLAR:  Anything else you would like to add on Dr. Georgopoulos?

DR. LOWRY:  No.

MR. MILLAR:  You also received the reply filings of Doctors Mintz and Wilson and you reviewed the transcript of their evidence the other day?

DR. LOWRY:  Yes.

MR. MILLAR:  Maybe you can give us your views on that, as well.


DR. LOWRY:  Well, the initial Mintz and Wilson filing was very, very limited in focus to the issue of marginal effective tax rates.  It seemed to me that what they were saying was that the marginal effective tax rate on the typical firm, typical corporation in the economy was actually somewhat higher than that on a company like Union Gas.


It was sort of trying to address the issue that there had been some special tax breaks for gas distribution that maybe would warrant a Z-factoring.


They didn't get into the issue of tax incidents at all, and they didn't even take the -- have the patience to explain a theory as to why tax cuts actually ultimately result in a slowdown in inflation.


So to me it is not surprising that, then, other witnesses come in and say they haven't made the case, and then they had to come back in a subsequent round and reply to these discussions and amplify their original story.


So when they did finally come back, through their reply evidence and through their oral testimony and their data request responses, they did flesh out a theory of why tax cuts would slow down the GDP IPI.


They also made some responses to the evidence of Loube and Georgopoulos that I found persuasive.  For one thing, they came in with new calculations about comparing the unit cost ...


[Music playing through intercom.]


MR. MILLAR:  I didn't arrange for that.


MR. PENNY:  I always feel that way about his evidence, also.


MR. PENNY:  Everybody is a critic.


MR. SHEPHERD:  I didn't know we were allowed to have sound effects with the witnesses.


MR. MILLAR:  I think the problem is resolved.  I'm sorry, Dr. Lowry, could you continue.


DR. LOWRY:  Well, for one thing, they showed constructively that the unit cost impact of tax reductions for the typical corporation was very similar to that for Union Gas.


They also presented some evidence about this whole issue of the lag effects, and they showed that there had been a pretty good-sized tax cut in the last five years that was just filtering its way through the GDP PI right now.  I thought that was a good point.


And of course I agree with their general attitude that you don't want to get into this issue of delayed effects if you can avoid it.


On the other hand, their calculations did compromise their position a little bit.  First of all, they had to acknowledge there is a decent-sized part of the GDP IPI that is not really covering inflation of large corporations.


They also had to acknowledge that in the short run, the tax cut effect, by stimulating investment, is going to increase demand for imports of various types of capital equipment and that that is going to raise the -- temporarily accelerate inflation by affecting the exchange rate.


I would also say that, in general, I didn't find that they tried very hard to rebut some of the tax incident arguments that have been made -- I mean, to this time.  I mean, there have just really been a few sentences here and there that talk about the issue of imperfect competition, the issue of the open economy.  I don't recall seeing anything in the record about the issue of demand elasticities.


May I say, too, that in both their calculations and the reply evidence and in these recent calculations that they have been provided, there's very -- there's no discussion at all about the issue of the tax incidents, and my take on both of these is that they are simply assuming that if there's a decline in the unit cost of operation due to this investment, that that is going to be 100 percent decline in the price.


And I am -- you know, to me, they haven't made a great case for that -- a great and reigning case for that.  Actually, these guys seem to be me to be experts on the investment impact of tax cuts, and -- but they don't spend much time at all talking about the tax incidents issue.


MR. MILLAR:  Is there anything else you wanted to add on Mintz and Wilson's reply evidence?


DR. LOWRY:  No.


MR. MILLAR:  Why don't I wrap up here?  I will ask you about J3.3, but before I ask that, why don't we wrap up everything else?


The last sentence in your report states that:

"Absent solid evidence that the GDP IPI will respond inappropriately in this instance, it is therefore reasonable for the Board to reject the Z-factoring of any part of the tax reductions."


Now, in your review of the evidence filed in this case since you wrote this report, have you seen any solid evidence that would lead you to change this conclusion?


DR. LOWRY:  I think that when you look at the fairly low threshold for Z-factoring, that one suspects that the pass-through of the taxes to the GDP PI slowdown is imperfect enough as to get you over the threshold.


However, I wonder about whether the case that has been made is good enough to come -- to make a decision on that and not just grant Union what they're asking for, the zero percent pass-through.  I mean, it was mostly very general remarks.  As I stated before, if it was Union asking for 80 million bucks, I think the standard would have been higher.


So to me, that is kind of where we're at right now.  A case could be made for something way less than 100 percent, because there is such a low threshold, but has the case been made well enough to make that decision?


MR. MILLAR:  With regard to Undertaking J3.3, I provided you with a copy of that this morning; is that right?


DR. LOWRY:  Yes.


MR. MILLAR:  You had an opportunity to read through it this morning?


DR. LOWRY:  Yes.


MR. MILLAR:  Can I ask you -- this will largely come as a surprise to me, as well, what you're going to say, because we haven't really discussed it.  But can you provide your overview of this undertaking response?


DR. LOWRY:  Well, it's preoccupied with this whole issue of the delayed effects, and they want to work into the analysis -- they're acknowledging that there is a lag in the impact of the tax cuts in question on the GDP IPI.  But they're saying, But when you consider that there were tax cuts in the last five years and that we just had this GST tax cut, not to mention the earlier one, when you factor that all in, then really the slowdown in the GDP IPI is enough to get the job done.


But all of that analysis is, I think, based on this same notion that as these investments are made, that there is 100 percent reduction in prices to reflect it, and that's the part -- that's the part that I am not completely convinced on.


MR. MILLAR:  Did you have anything further to discuss on J3.3?


DR. LOWRY:  No.


MR. MILLAR:  Thank you, Dr. Lowry.  Mr. Chair, those are my questions.  Dr. Lowry is available for cross-examination.


MR. KAISER:  Thank you.  Mr. Warren, any questions?


MR. WARREN:  I think Mr. Shepherd is keen to go, so...


MR. KAISER:  All right.  Mr. Shepherd.

Cross-examination by Mr. Shepherd:


MR. SHEPHERD:  We have agreed that I will be the sacrificial lamb here.


Let me start with your conclusion, Dr. Lowry.  As I understand your conclusion, the onus is on the people asking for the Z-factor to demonstrate that it is necessary.  You're starting from that premise; right?


DR. LOWRY:  Well, I want to emphasize I am not a legal scholar, so you have to put as much weight on that opinion as it's worth.  But it is my notion that the petitioner would normally have to try the hardest to make a convincing case.  Certainly if Union was coming in and asking for 80 million, a lot would be expected of them in terms of their filing.


MR. SHEPHERD:  So if I understand what you have said, you have said that assuming that it's up to the ratepayers to demonstrate that a Z-factor is needed, it appears there's enough evidence to show that there's a material amount that doesn't pass through, but not enough for the Board to conclude that there should be a Z-factor.  Is that a fair statement of what you're saying?


DR. LOWRY:  Well, the Board would be hard-pressed to confidently choose a number, a sharing percentage, based on the evidence that is out there.  And a possible way of expediting that is just find some number that is out there in the literature that would be germane.


Now, Mr. Loube had his own notion on that, the 75 percent thing.  I personally wasn't that convinced with that one.


One that I noticed, that I mentioned in one of my interrogatories, that might be a little more relevant - but isn't necessarily good enough either - there was this recent CPI release by the Statistics Canada or some Canadian government agency that said that -- is talking about the effect of the 1 percent reduction in the GST tax.


It says that, quote:

"A rough estimate of the inflationary impact of a 1 percent reduction in the GST is ..."


Quote:

"... is that the rate of change would be lower by 0.6 percent than it otherwise would have been if the entire amount of the decrease were transferred to customers through lower prices."


I am not saying that is a good one either, but I mean, absent costly empirical work, something like that might be what's needed, really relevant, might be what is needed for the Board to go for sharing.

MR. SHEPHERD:  Let me come back to that.  I am actually going -- I am still trying to understand the onus concept.

I guess the hard question here is, if, as a matter of the Board's practice -- accept this as a hypothetical -– if, as a matter of the Board's practice, it was determined that the onus is on Union to demonstrate that they should keep the 80 million, would your conclusion also be the same, that they haven't demonstrated that?

DR. LOWRY:  Yes, I agree that -- I don't think that the idea of a zero percent pass-through has been conclusively supported by Union's evidence.

MR. SHEPHERD:  All right.  I want to ask you if you have seen Exhibit K5.1, the flow chart that Dr. Georgopoulos --

DR. LOWRY:  I have.

MR. SHEPHERD:  Do you understand how this works?

DR. LOWRY:  I do.

MR. SHEPHERD:  And this suggests that there is a step-by-step process by which a change in corporate income tax is reflected in the inflation measure, at the end of the day.

In your experience as an economist, does this correctly set out what you think the mechanism probably is?

DR. LOWRY:  Well, I would have -- think it would have been helpful had Union's witnesses fleshed this out better than this.

Even, well, one problem I have with it is that the idea is that increased capital investment increases productivity, that lowers unit cost.

Well, the lower tax rate alone reduces unit cost.

So do they mean something different than that, like the long-run marginal cost is affected?

I could see how, potentially, enhancements in labour productivity could reduce the long-run marginal cost and that that could affect price.  It is some mechanism like this, in other words, but I think, you know, I would have liked to have seen a clearer description of the whole process.

MR. SHEPHERD:  Well, Dr. Mintz and Wilson in their materials, especially in their reply evidence which fleshes it out more -- correct me if I'm wrong -- didn't they say that they're not really arguing that the corporate tax cuts directly cause the price decrease, but rather that they cause a reduction in the marginal effective tax rate, reducing the user cost of capital, which is then stimulating capital investment.  Isn't that right?

DR. LOWRY:  Yes, and I wrote something similarly in my responses to data request.  One thing I also mentioned is that it is obviously going to increase production capacity, and if you were in a capacity constraint situation, that can also affect the price.

MR. SHEPHERD:  Okay.  You will agree, won't you, that if this is the correct mechanism by which the translation occurs, that there are lags at various stages in this --

DR. LOWRY:  That is very clear and they have freely admitted that.

MR. SHEPHERD:  And Dr. Wilson said this morning that in fact, the first year only 3 percent of the impact is seen.  Does that sound about right to you?

DR. LOWRY:  I don't know where he came up with those numbers, but I could imagine that it's a slow process.

MR. SHEPHERD:  You have also see there has been some evidence filed, for example, a very well known paper by Bernanke dealing with the effects of monetary policy on capital stock.

Have you taken a look at that?

DR. LOWRY:  I did not read that, no.

MR. SHEPHERD:  Okay.  Would you think that the translation of -- a monetary policy shift to capital investment would have similar lags to a tax cut and capital investment?

DR. LOWRY:  It might, but you are really getting to the edge of my expertise.  I am not -- I'm a microeconomist by training.

MR. SHEPHERD:  Okay.  Well, let me move, then, to what is really in your wheelhouse, and that is trying to determine what factors, economic factors affect what other factors is econometrics; right?  That's in fact what you do?

DR. LOWRY:  Yes.

MR. SHEPHERD:  And Dr. Georgopoulos yesterday said, really, this is a problem that is susceptible of empirical analysis in one of two ways.  He said number one, you can look at a past time series data, figure out what your various variables are, and tease out from that what the impact has been in the past of corporate tax changes.  That is econometrics, right?  You can do that?

DR. LOWRY:  Sure.  There have been studies like that.

MR. SHEPHERD:  Have you seen such studies?

DR. LOWRY:  Yes.

MR. SHEPHERD:  And do you know what the sort of impacts are?

DR. LOWRY:  I don't recall the lag part.  The one I saw was a Canadian government study and it was to the effect that it was, just how hard it is to detect the effect on investment, because so many other things were happening at the time that you needed to factor them out.  But I don't recall what it said about the lag.

MR. SHEPHERD:  An empirical time series study should be doable, right?  It is hard but doable?

DR. LOWRY:  Well, but that is not getting at the full incidence issue.  That is only getting at the investment lag issue, but, yes, it is doable.

MR. SHEPHERD:  Well, if you took as your output the GDP deflator, if you said let's test various impacts on the deflator, you could actually determine whether there's a statistically significant relationship between that and the tax cuts; right?

DR. LOWRY:  Well, you could try your hand at that.

As I am sure Dr. Wilson is chuckling to himself that you could either do that with a proper structural model or you could do kind of a reduced form model of that, and it's easier said than done well.  But yes.

MR. SHEPHERD:  Isn't that the sort of thing you have in fact done, for example, when you are looking at input price differential?  Conceptually it is the same sort of stuff; right?

DR. LOWRY:  Yes.

MR. SHEPHERD:  Okay.  The other way you can do it, said Dr. Georgopoulos, is you can take a simulation model of the economy, if you have a good one, and you can adjust things within that model to see what the simulated effects are.  That's another legitimate way of getting a better answer; right?

DR. LOWRY:  Yes.

MR. SHEPHERD:  Are there other ways that you can get to a reliable number, other than those two?

DR. LOWRY:  Well, those are the start-from-scratch, reinvent-the-wheel ways.  As I said before, you can also look around for other studies that have already done something like that.

MR. SHEPHERD:  Dr. Georgopoulos talked about the impact of monetary policy.  You are aware that the monetary policy in Canada and the United States are quite different?

DR. LOWRY:  I am.

MR. SHEPHERD:  And in fact, in one of your interrogatory responses, you said that the inflation target in Canada is between 1 and 3 percent.  You are aware that the inflation target is now 2 percent, right?

DR. LOWRY:  The mean, midpoint of the range is two, yes.

MR. SHEPHERD:  Well, no.  You are aware that subsequent to the information you were reading --

DR. LOWRY:  Oh, okay.

MR. SHEPHERD:  -- there was an agreement in which --

DR. LOWRY:  Well, no, I wasn't aware of that.

MR. SHEPHERD:  You weren't?  Okay.  One of the things you said in one of your interrogatory responses was that the way the economy responds to tax cuts will in part depend on inflation expectations; is that fair?

DR. LOWRY:  I thought I said that inflation expectations were part of the determinants of inflation, but again, I must warn you that as a microeconomist, this whole line of questioning is kind of leading into an area where I don't have very much constructive to contribute here.

MR. SHEPHERD:  Well, where I'm actually driving at is this. I am actually asking, going for a micro question, which is:  When companies make decisions, one of the things that they do is, one of the impacts, the inputs is their own inflation expectations; isn't that right?

DR. LOWRY:  Sure.

MR. SHEPHERD:  And to the extent that they have a particular expectation about the future, that will affect whether they invest -- whether they make capital investments, whether they borrow, whether they -- all sorts of things like that, right?

DR. LOWRY:  Yes.

MR. SHEPHERD:  So -- and let me give you an example.  If a tax cut reduces your user cost of capital, but your expectation is that within a relatively short period of time that will go back up to a norm -- for example, through monetary policy -- then that will change your investment decision-making, won't it?

DR. LOWRY:  Well, I tend not to dispute the contentions by Doctors Mintz and Wilson that corporate tax cuts do encourage investment.

MR. SHEPHERD:  But that wasn't quite my question.

My question actually was:  Yes, it is true they encourage investment, but another factor to that is what you expect the interest rates and inflation levels to be in the future.  Isn't that right?

DR. LOWRY:  Yes.

MR. SHEPHERD:  You talked in your direct evidence there about what you think about the lag issue.

If I understand what you were saying, it is that there are lags from the past.  There are lags within the period we're talking about.  There are lags into the next period.  And netting those two zero, in some way, is not a productive exercise; is that fair?

DR. LOWRY:  Well, it's -- it greatly complicates the analysis, and, you know, you could be -- for one thing, obviously the analysis of the Z-factor today is going to be sort of twice as complicated, because now you are trying to figure out also the effect of the earlier tax cuts, but you are also asking for another Z-factor case next time with Union being the petitioner, because there's still some lagged effects from those tax cuts that they have already passed through on their taxes.

MR. SHEPHERD:  One of the things that happens in incentive regulation is every so often you have a rebasing year; right?

DR. LOWRY:  Yes.

MR. SHEPHERD:  And in that rebasing year, you are using a different regulatory paradigm:  (a) it's cost of service, rather than based on some macroeconomic model or indicator; and, secondly, it is on a forward test year basis.  Isn't that right?

DR. LOWRY:  In Ontario, I believe that it is, yes.

MR. SHEPHERD:  To what extent do those two facts, in that intervening year, every five years or whatever it is, reset the impacts?

DR. LOWRY:  Well, as I say, at that -- five years down the road, Union is going to pass through every dollar of those tax savings, but the GDP IPI will still be slowed in its growth, in theory, by these tax cuts.  So...

MR. SHEPHERD:  But there will be a delay.

DR. LOWRY:  The forward test year will embody the -- could embody the expected inflation for that year.

MR. SHEPHERD:  Okay.  You wrote a -- you and Dr. Kaufmann wrote a paper on incentive regulation that is widely quoted throughout North America, in fact throughout the world, 15 years ago; right?  You know the one I am talking about?

DR. LOWRY:  I am not sure.  Are you talking about the Z-factor?

MR. SHEPHERD:  No.  I'm talking about the incentive regulation, how you do it, the Bible of incentive regulation.

DR. LOWRY:  I am not sure which one you are referring to, but...

MR. SHEPHERD:  I don't have it with me, so I have to  -- you have written a lot of papers on this; right?

DR. LOWRY:  Yes.

MR. SHEPHERD:  Generally speaking, when you talk about the Z-factor component of a price cap regime, the example you use is taxes; isn't that right?

DR. LOWRY:  Um..., it probably is.  I mean, I know I have used that example before, because taxes could be used opportunistically by a government agency to try to take wealth from the utility, secure in the knowledge that the price cap wouldn't pass it through.  So that's why there is a need to discourage that behaviour by having a Z-factor.

MR. SHEPHERD:  Now, except for the formula -- you have a series of tests for a Z-factor; right?

DR. LOWRY:  Yes.

MR. SHEPHERD:  And one of those tests is:  Is the particular impact picked up by the other components of the price cap; right?

DR. LOWRY:  Yes.

MR. SHEPHERD:  Aside from that test, taxes meet every other part of the test, generally; right?  If there's a tax change, they generally meet the other requirements?

DR. LOWRY:  Well, that would depend on the inflation measure.  If it was GDP IPI, yes, because there is always going to be a concern that it's not doing a perfect job.  If it is a certain type of industry-specific measure, there might be no issue about it.

MR. SHEPHERD:  Sorry, I didn't state my question clearly.  You have seven tests, or whatever.  I think it is seven tests.  So six of those tests have nothing to do with the price cap formula.  They're about:  Is it in management's control, et cetera.


DR. LOWRY:  Yes.

MR. SHEPHERD:  Those tests are all met by taxes; right?  The only one that may not be met is:  Is it picked up either in the inflation or the X-factor?

DR. LOWRY:  Fair enough.

MR. SHEPHERD:  Is that true?

DR. LOWRY:  Hmm-hmm.

MR. SHEPHERD:  So all we're trying to determine here, if I understand this correctly, is the extent to which it's picked up in the formula; right?

DR. LOWRY:  Well, assuming it also passes the materiality threshold, which it seems to in this case.

MR. SHEPHERD:  And it's correct, isn't it, that in the price cap formula that is being used here, the only place it could be picked up is in the I-factor; right?

DR. LOWRY:  Yes.

MR. SHEPHERD:  Okay.  And so then tell me whether this is correct, that the narrow question here is there are some tax changes between 2008 and 2012, to what extent are they picked up in the I-factor during that period; isn't that right?

DR. LOWRY:  Well, that's your -- that would be your narrow question, but then Union could come back and say, While we're on the topic of narrow questions, we would like to talk about those earlier tax cuts.

So then, in a sense, the Board kind of pools the two proceedings into one and takes the net of the two.

MR. SHEPHERD:  Okay.  It's correct, isn't it, that because of the one-year lag in incentive regulation, in the macroeconomic indicator used, that it is not possible for any of the 2008 tax changes to be reflected in 2008 rates?  Isn't that mathematically correct?

DR. LOWRY:  I think that is true, except for any -- I think that is true, but it would, of course, reflect the earlier tax cuts.

MR. SHEPHERD:  Thank you.

MR. KAISER:  Mr. Shepherd, would this be a convenient time to break for the lunch hour?

MR. SHEPHERD:  I think I am actually finished, so it would be a great time to break.

MR. KAISER:  Thank you.  Come back in an hour.

--- Luncheon recess taken at 12:30 p.m.


--- Upon resuming at 1:42 p.m.

Procedural matters:


MR. KAISER:  Please be seated.  Mr. Warren, do you have questions?

MR. WARREN:  Mr. Thompson is preceding me.

MR. PENNY:  Mr. Chairman, just on the scheduling issue, I can confirm that Tuesday, next, the 15th, for argument works.  I checked my calendar on that.

MR. KAISER:  We may have to get back to you on that.  There have been some other developments, but we will do that.  Hold those dates, if you could.

MR. PENNY:  Yes, thank you.

MR. KAISER:  Mr. Thompson.
Cross-examination by Mr. Thompson:


MR. THOMPSON:  Dr. Lowry, I would like to begin by just asking a couple of questions about experience.  If you would turn to page 3 of your report, you will see the top line, sentence:
"Pacific Economics Group, PEG, advises Board Staff on incentive regulation."

Does that include advice with respect to incentive regulation in electricity as well as gas?

DR. LOWRY:  Yes, it does.

MR. THOMPSON:  And I don't know if you are aware of these exhibits.  They were filed -- there was filed previously a couple of exhibits, K4.2 and K4.3, and these documents deal with the manner in which the Board is treating income tax reductions in the 2nd generation of IR for electricity distributors.

Are you familiar with those documents?

DR. LOWRY:  Yes.

MR. THOMPSON:  Did your firm advise on how to treat income tax reductions in 2nd generation incentive regulation for electricity distributors?

DR. LOWRY:  Well, I was the manager of that project and, for the Board, and almost the sole person involved in it.

I have to admit, I don't recollect discussing that with them.  It may just be a matter of a memory issue, but I don't recall dealing with that.

It has been the case that the extent of our involvement was much greater on the issue of price cap indexes and the like than it was on other plan provisions in that project and also in subsequent projects.

MR. THOMPSON:  All right.  Just, then, a further questions on these.  Do you need to see these documents or can I just --

DR. LOWRY:  Until I stub my toe on something, please just go ahead.  I think I understand.

MR. THOMPSON:  In the letter that went out to licensed electricity distributors and others, this was dated in November of 2007, in the second paragraph of it, it refers to the Board's December 26th report.

It mentions Z-factors, and it has this sentence:
"In particular, the Board stated Z-factors would apply to changes in tax rules that may result in positive or negative amounts."

Then the letter goes on:
"This letter describes how the Board intends to effect income tax rate changes as part of the 2008 incentive regulation mechanism application process."

Does that help refresh your memory in any respect?

DR. LOWRY:  Yes, it does.

MR. THOMPSON:  Then what the Board did in K4.3, and it also describes at K4.2, is treat the 2008 -- well, treat tax reductions as something outside the GDP IPI inflation factor.

Do you recall that?

DR. LOWRY:  That's my understanding, that -- well, actually I recall just from reading the documents in this proceeding.  I, as I say, don't vividly recall that particular detail of the IRM 2 mechanism.

MR. THOMPSON:  My question is:  Was that done on the basis of your advice?  Can you recall?

DR. LOWRY:  As I say, not to my recollection.

MR. THOMPSON:  Well, did you advise against it?

DR. LOWRY:  Not to my recollection.  I honestly don't recall discussing that issue.

MR. THOMPSON:  All right.  Let's move on.

Now, in terms of your role here as an expert witness, do you agree with me that your objective is to help the Board with information with respect to the issues?

DR. LOWRY:  Well, I'm certainly intent on helping them, aiding them in making a decision.  If that includes information, I suppose it does.

MR. THOMPSON:  But Mr. Shepherd touched on this.  I just wanted to nail it down.

Questions with respect to onus and the findings that the Board should make on the basis of evidence adduced by others, what that does -- or what that evidence does or does not support, that is really for the Board to determine, not for you to determine.

DR. LOWRY:  Definitely.

MR. THOMPSON:  Thank you.

Now, in terms of the matters that are before the Board in this particular case, there are two tax reduction-related issues.  The first one deals with the base year revenue requirement or rates adjustment for 2007 tax reductions.  Are you aware of that?

DR. LOWRY:  Yes.

MR. THOMPSON:  Then the second one is this Z-factor status of the expected tax reductions in the years 2008 to 2012.  Are you aware of that?

DR. LOWRY:  Yes.

MR. THOMPSON:  Let me just start, then, with the first item, the base rate adjustment issue.

Are you familiar with the settlement agreement that's attached to the Board decision in this case approving it?  I think it was dated in January -- yes, January 17th, 2008.


DR. LOWRY:  I am familiar with it, although I don't have a copy in front of me.

MR. THOMPSON:  You do not have?

DR. LOWRY:  Not in front me.  But again, I am not sure that will pose a problem.

MR. THOMPSON:  Let's see if we can get by without having to put this in front of you.  There is a section in this agreement at page 33 and it is entitled "Adjustments to base year revenue requirements and/or rates."

Do you recall that?

DR. LOWRY:  Yes.

MR. THOMPSON:  Okay.  And within that section, there are four adjustments that are described or agreed upon; they total about $8.8 million.  And then there is a reference to the inability to settle the risk management component of that issue of this base year adjustment issue, or the taxes payable by Union as a result of tax changes feature of this issue.

DR. LOWRY:  Mm-hmm.

MR. THOMPSON:  Are you aware of that?

DR. LOWRY:  Yes.

MR. THOMPSON:  Three of the adjustments that are described in the document that were agreed to -- one was a deferred tax draw-down amount, another was a reduction to regulatory cost budget, and then there was another one, phase II GDAR costs that will not be incurred.  Do you recall those topics being the subject of agreed-upon --

DR. LOWRY:  Vaguely.

MR. THOMPSON:  Now, the evidence in this case indicates that there are $2.8 million of 2007 tax reductions that were not reflected in the forecast base year revenue requirement.  Are you aware of that?

DR. LOWRY:  I believe I understand that to be the case, yes.

MR. THOMPSON:  And I believe it is conceded that these amounts were beyond -- these represent costs that are beyond the control of the company.  Would you agree that tax reductions are beyond the control of the company?

DR. LOWRY:  They are substantially beyond the control of the company.

MR. THOMPSON:  And the evidence indicates, as I understand it, that part of the 2.8 is already recorded in a deferral account, and then when legislation passes, the rest of it will be recorded in a deferral account and credited to ratepayers for 2007.  Are you aware of that?

DR. LOWRY:  I will accept that, subject to check.

MR. THOMPSON:  That's my understanding of what Mr. Birmingham had told me.

Assuming that's correct, that these dollars are in a deferral account, is that not, in and of itself, evidence that these costs are beyond the control of the company?

DR. LOWRY:  Well, perhaps.  I am not really disputing that they're substantially beyond the control of the company.  I mean companies have a little bit of ability to play around with when they actually make tax payments, but short of that, it's pretty much like a change in the price of any input, is something that is ^p beyond their control.

MR. THOMPSON:  So can you tell us, in your own words, what the base year adjustment is intended to reflect?

DR. LOWRY:  Well, actually, in this case, I am not sure what the grounds were for making this.  Was it the case that -- I'm not sure why it wasn't in base rates originally, whether it was just a matter that no sooner had base rates been agreed to than we found out about this, or whether there was some -- it was to some degree the fault of Union that this was not in there originally.  

I am not sure of the story, so I am hard pressed to know what principle supports this treatment.

MR. THOMPSON:  Nor am I clear on why it's not a base rate adjustment.  But let's assume that it's an underestimated effect of the tax reductions in 2007 and that the underestimated amount, or, if you will, the increase that should have been there to the regulatory cost budget should be $2.8 million.

Is there any reason, in your view, why this should not be brought into account as a base rate adjustment?

DR. LOWRY:  Again, it depends on the story behind it.

Ordinarily, once base rates are set, they're not changed even if they become a little stale.  Now, in this case, this was part of the settlement.  It may just be something that was agreed to, principle or not.  But, ordinarily, you don't change base rates once they have been set, and, you know, sometimes there is a little passage of time when it materializes that they were a little high or low.

MR. THOMPSON:  Well, I suggest to you, Dr. Lowry, that we should be truing up for costs beyond the control of the company not incurred in the base year.  If that's -- first of all, do you agree with that suggestion?

DR. LOWRY:  No, not necessarily.  You know, I mean, in incentive regulation, sometimes there is a certain amount of insensitivity of the terms to the company's own costs.  That's part of the spirit of it.  Very often, the utility is absorbing some risk along the way that, year in, year out, will benefit the consumer.

MR. THOMPSON:  Well, so what's the proposition?  It's just up to the utility to determine what goes in as a base rate adjustment?

DR. LOWRY:  No.  Again, I don't know what principles were used in this case, but under -- in an incentive regulation plan, there are going to be a certain number of little developments, some that help the utility and some that hurt it, and we're kind of hoping to move beyond wringing our hands about every single one of them, not to say that this one isn't large enough to be worth considering.

MR. THOMPSON:  Well, if I suggest to you that my client will be asserting that the principle to be applied is that we should true up for costs beyond the control of the company, not incurred in the base year, do you have any quarrel with that as a statement of principle?

DR. LOWRY:  I am not on board.  I am not necessarily opposed to it in all cases, but I think that we need to -- you know, as a practical matter, you have to settle upon some base rates, and sometimes utilities see fit to settle base rates first, and then focus on the rate adjustment mechanism.  And before it's finalized, there may be a little bit of -- there may be some developments that make that base rate seem a little high or low. 

I wouldn't think it is it generally expected that that be changed, the base rates be changed on the basis of that new information.

MR. THOMPSON:  So you don't quarrel with the proposition or you do quarrel with the proposition?

DR. LOWRY:  I am not sure.  I would generally be reluctant to do that, but I wouldn't say that in every case I would think it a bad idea to adjust the base rates.  I mean, particularly if it's something that the parties to a settlement think is important, I could see it being thrown into the settlement that there be an adjustment to the base rates.

MR. THOMPSON:  Well, we couldn't agree on this item, Dr. Lowry, so we need some principles to guide us to resolve the issue.  Can you help us there?

DR. LOWRY:  I would say, generally speaking, I wouldn't change the base rates.

MR. THOMPSON:  For anything?

DR. LOWRY:  Again, we get into this issue that we were talking about this morning about the spirit of incentive regulation and that there should be a healthy reluctance to revisit issues about the incentive plan -- the terms of the incentive plan.  

Sometimes they become important enough that, yes, we reopen, but we're looking for some simplicity here and some stronger performance incentives that come from moving the rates away from the company's own unit cost.

MR. THOMPSON:  All right.  Well, let's move on.

You are aware that Union agreed to a $1.9 million deferred tax draw-down, and a reduction to regulatory cost budget of 1.0 million and GDAR costs that will not be incurred of 1.6 million?  All of these amounts are less than the 2.8 on the table here.

DR. LOWRY:  Well, all the more reason that Union might have been willing to throw in a few sweeteners.

MR. THOMPSON:  All right.  Let me move on to the second topic, which is the Z-factor issue with respect to rate reductions over this 2008 to 2012 period.

Now, in terms of the topics that emerged in this case with respect to this item, I suggest to you there were two.  One was how much of the tax reduction actually filters down to the GDP IPI, and that was the one-to-one debate or something less than one-to-one.  Are you familiar with that?

DR. LOWRY:  Yes.

MR. THOMPSON:  Then there was -- the second question was:  How long does it take?

DR. LOWRY:  All right.

MR. THOMPSON:  Now, my understanding of Dr. Loube's evidence, and I think of the School's expert witness, was that with corporate tax changes, all of it is not likely to filter down.  It is likely to be  -- when I say "all of it", it's all of the tax reduction attributable to corporate tax changes is not likely to lead to a one-to-one change in the GDP IPI.  Is that your understanding of what's happened?

DR. LOWRY:  Yes, I think to me that's the more important issue, the one that one might ultimately base a sharing mechanism, if any, is just:  Is there really 100 percent pass-through of a cost reduction to prices?

MR. THOMPSON:  Where do you stand on that issue with respect to corporate tax changes?  Is it less than one?

DR. LOWRY:  I feel that it might well be materially less than one, but there hasn't been a very good number come out of the proceeding.

I don't think that Union made a great case that there is 100 percent pass-through there, and I don't think that the other witnesses made a very good case of how big of a shortfall there is.

MR. THOMPSON:  But you think it should be materially less than one?

DR. LOWRY:  I could imagine that it is.

MR. THOMPSON:  What is the basis for that --

DR. LOWRY:  Just the general arguments that were advanced about sort of a miscellany of issues that include imperfect competition, the fact that many of these goods and services are traded in world markets, and another thing that has kind of gotten lost in the discussion today is just the fact that the corporate sector only accounts for about 70 percent of the Canadian economy.

MR. THOMPSON:  So do you have a view -- 

DR. LOWRY:  May I say there was also the issue of there being some sensitivity of demand to the price.

MR. THOMPSON:  Now, in terms of your thought that it should be materially less than one, do you have a high-level view as to whether it's 50 percent?

DR. LOWRY:  No --

MR. THOMPSON:  Twenty-five percent?

DR. LOWRY:  -- I don't, but I would say that 50 -- intuitively to me, and based on the limited evidence that's been gathered in this proceeding, that it should not exceed 50 percent pass-through.  That would be the high end.  So really, to my way of thinking, the relevant range of a pass-through would be between zero and 50 percent.

MR. THOMPSON:  All right.  And so assuming that part not passed through -- well, let me ask you.  Does the part not being passed through -- let me back up.  When you say "pass-through", you're talking about passed through to the inflation factor?

DR. LOWRY:  Yes.

MR. THOMPSON:  All right.  So that's what I call the "filtered-down factor" --

DR. LOWRY:  Okay.

MR. THOMPSON:  -- and you put that somewhere between zero and 50 percent?

DR. LOWRY:  Yes.

MR. THOMPSON:  All right.  And then there is the second topic about lags, which is what tax reductions are we talking about here, what's the period we're talking about here, and how long -- what impact do those tax reductions have on the GDP PI in a particular period.  You have heard that discussion this morning?

DR. LOWRY:  I was characterizing that as an unfruitful discussion.

MR. THOMPSON:  As a what?  

DR. LOWRY:  An unfruitful one.  It is too complicated in this case, certainly, and one that probably should be set aside as a rationale for Z-factoring.

MR. THOMPSON:  Well, let's take cost of service regulation as a starting point.

Would you agree with me that under cost of service regulation, assuming that was applied by Union in 2007, that all tax reductions to the end of 2007 will be reflected in the base?

DR. LOWRY:  Yes.

MR. THOMPSON:  All right.  So we move forward, then, to talk about --

DR. LOWRY:  Maybe I should even clarify that, though.  I mean under cost of service regulation, you don't usually have a rate case every year.

A normal cycle -- I mean at the extreme there is a rate case every year.  More commonly it is two or three years between rate cases.  So once base rates are established, they aren't always adjusted between rate cases for new developments.

MR. THOMPSON:  Well, my point was that as of the end of 2007, all tax reductions, tax increases, the Bank of Canada response to all of that, that's all captured in the base, the 2007 --

DR. LOWRY:  Whenever the base is reconsidered, it would be entirely -- the entire amount of any change would be passed through.

MR. THOMPSON:  So we then turn to a consideration of the effect of the reductions, 2008 to 2012, on the GDP IPI in that timeframe.  Are you with me --

DR. LOWRY:  Sorry, could you ask that one again.


MR. THOMPSON:  Okay.  I want you to now consider the effect of the tax reductions in the period 2008 to 2012 --

DR. LOWRY:  Okay.

MR. THOMPSON:  -- on the GDP IPI in that timeframe.

DR. LOWRY:  Yes.

MR. THOMPSON:  Okay?

And we have been told that the tax reductions over that five-year span are expected to be about $80.51 million.

DR. LOWRY:  Right.

MR. THOMPSON:  You are familiar with that number?

DR. LOWRY:  Yes.

MR. THOMPSON:  Okay.  So the question becomes:  How much of that $80.5 million is going to, in effect, get picked up in changes in the GDP IPI, 2008 to 2012?  Okay?

DR. LOWRY:  Yes.

MR. THOMPSON:  Now, in your responses to interrogatories to the Schools, as well as to -– well, I think Schools would be the starter.  I think the ones I am looking for are, I think it is 2 and 9.

Could you just check those, please?

DR. LOWRY:  Schools 2 and 9?

MR. THOMPSON:  Yes.  Schools, E4, tab 3, schedule 2; and then again at E4, Tab 3, schedule 9, you were asked questions about these lags.

Do you see those questions?

DR. LOWRY:  Yes.

MR. THOMPSON:  In the answer to question 2, you said:
"I am not qualified to provide accurate calculations concerning the lags involved."

And in Tab 9, you say:
"I am not qualified to prepare an accurate estimate of the inflation impact of the tax reductions."

Right?

DR. LOWRY:  Right.

MR. THOMPSON:  So can I conclude, you can't help us on this point about lags?

DR. LOWRY:  Only to volunteer the opinion that obviously there are lags, and the evidence of Union itself is very clear on the existence of considerable lags.

MR. THOMPSON:  Well, there is evidence, with respect to the lags in the J3.3 that was filed this morning; correct?

DR. LOWRY:  Yes.  They build lags in.  I was not clear on how they come up with those lags, whether they're just sort of mechanistically imposed.  But yes, there are lags in their study.

MR. THOMPSON:  But bear with me, Doctor.  Whether you are clear or you are not clear, this is evidence of lags; correct?

DR. LOWRY:  Oh, yes.

MR. THOMPSON:  And there is nothing from you with respect to lags, of this nature.

DR. LOWRY:  I think in one of the interrogatories, I said it would take something like five years for the bulk of an effect to pass through.  That is certainly a lag.

MR. THOMPSON:  There is nothing from you, based on a model that used taxes as the input to come up with an estimate of lags?

DR. LOWRY:  That's true.

MR. THOMPSON:  So in terms of what we have and the evidence yet to come about the impact of lags, this is hard evidence; correct?

DR. LOWRY:  As I say, the quality of that evidence, in terms of where they come by their empirical notions about lags is hard to say.

So how good that evidence is, is not clear to me, but, yes, it's -- at least it is numerical evidence, based, I think, on a simulation model.

MR. THOMPSON:  Now, we have heard evidence that these numbers in the exhibit that was filed this morning include GST and that if you take the GST out, you get some smaller number.  Did you hear that discussion?

DR. LOWRY:  Yes.

MR. THOMPSON:  Now, do you subscribe to the view that corporate taxes, reductions, are different than GST or sales tax changes?

DR. LOWRY:  Yes, and you have to be wary about that, as you go through the evidence, because sometimes the Union witnesses will, or Mr. Penny will grab something that uses, as an example a sales tax, to talk about inflation effects when the effects of an income tax could be rather different, both in terms of lags and in terms of the ultimate recovery.

MR. THOMPSON:  Do you subscribe to the view that it takes corporate taxes longer to filter down?

DR. LOWRY:  Yes.  Yes, it does, and it could be less complete, as well.

MR. THOMPSON:  All right.  Now if you assume that the Board is going to give consideration to these lags -- I just ask you to make that assumption -- what I am interested in is your view on, now, how do we combine the effect of lags with your view that zero to 50 percent isn't going to filter down at all.

DR. LOWRY:  Well, this is where the Union witnesses have put the brunt of their effort, really, is to say that:  Look, if you are going to get into this lag thing, then we get to count the lags from the earlier tax cuts and the GST, the 2008 GST reduction, and that when you factor all of that in, there's no problem.

MR. THOMPSON:  Is that responsive to my question?

DR. LOWRY:  I hope so.  In other words, I think really that is a lot of what Union was talking about.  They simply assume 100 percent pass-through of tax cuts, eventually, to prices.  But a lot of their evidence is about this lag-lead issue, and trying to claim -- somewhat persuasively, actually -- that that's not a problem when you think of all of the lags that one could think of.

MR. THOMPSON:  Well, let's assume only half of it is going to get passed through.  Take the extreme of your view.  Half of it it's only go find its way through to the GDP IPI in the first place.

If we then consider lags on top of that, it seems to me we come up with lower numbers than what's in the exhibit Union has provided this morning, particularly when you take GST out.

DR. LOWRY:  I think Union's effort is to show that the lag issue is a wash.


MR. THOMPSON:  Well --


DR. LOWRY:  At least in this case, when there were some pretty hefty corporate tax rate cuts in the last five years.


MR. THOMPSON:  That is a matter of argument, so I will leave it there.  Thank you very much, Doctor.  


MR. KAISER:  Mr. Warren.


MR. WARREN:  Senior counsel have covered off all of the points I was going to address.


MR. KAISER:  All right.  Thank you.  Mr. Buonaguro, anything?


MR. BUONAGURO:  No.


MR. KAISER:  Ms. Newland, anything?


MS. NEWLAND:  No.


MS. CHAPLIN:  Mr. Penny?


MR. KAISER:  Mr. Scully, anything?


MR. SCULLY:  No questions.

Cross-examination by Mr. Penny:


MR. PENNY:  I just have one question.


Dr. Lowry, it has to do with a comment you made quite early on, so you will have to go back, and it had to do with your analogy that -- or suggestion that one benchmark might be that -- something you found out from Stats Canada, that every 1 percent reduction in GST, there was a 6 percent impact on CPI.  Do you recall that?


DR. LOWRY:  Yes.


MR. PENNY:  Are you aware, sir, that the GST does not apply to all goods and services?


DR. LOWRY:  Yes, but -- 


MR. PENNY:  Are you aware that, for example, basic food and prescription drugs are zero-rated under GST?


DR. LOWRY:  No.


MR. PENNY:  Rent, medical services and educational services are exempt; are you aware of that?


DR. LOWRY:  No.


MR. PENNY:  And it is my understanding that that 6 percent -- that 0.6 that you were talking about for every percentage change in GST, that actually does represent full pass-through based on those who do pay, actually pay, GST.  Are you able to comment on that?


DR. LOWRY:  No.  That's a good example of where there's this ongoing search for a convenient number, and each one that --


MR. PENNY:  Sorry.  This is your number.  That's why I'm asking you about it.


DR. LOWRY:  Yes.  Well, I simply threw it out as a potential candidate, but it could be that there is a problem with that that makes that an uninteresting figure.


MR. PENNY:  Okay.


DR. LOWRY:  I will, again, state my earlier comment, though, that what is true of an indirect tax such as this is not necessarily true of an income tax.


MR. PENNY:  As I say, I asked you because it was your number.  But, thank you, those are all of my questions.


MR. KAISER:  Thank you.


MR. MILLAR:  Mr. Chair, I have one question in redirect.  If you had some questions, please feel free to go first.

Questions from the Board:


MR. KAISER:  I just had one question, Dr. Lowry.


You mentioned this fact that the corporate sector only accounts for 70 percent of the economy.  Was it your impression that Professors Mintz and Wilson had adjusted for that fact in their indices, or not?


DR. LOWRY:  Sorry.  Yes, that is one that they did adjust for.  Hmm-hmm.


MR. KAISER:  Thank you.  Mr. Millar, re-direct.

Re-examination by Mr. Millar:


MR. MILLAR:  Thank you, Mr. Chair, just very briefly.  There is something I want to make sure is clear on the record, and I think it is, but just so that there is no doubt, you had an exchange with Mr. Thompson wherein he asked you if you thought the pass-through was something less than 100 percent.  You said probably it is, and he asked you to venture a guess as to where it might be.


After some qualification, you said, Well, it's probably somewhere between zero and 50 percent.


And just so we're clear, are you saying that zero to 50 percent does not pass through to GDP IPI, or the converse?


DR. LOWRY:  I am saying that the maximum pass-through that could possibly be supported by the evidence is 50 percent.  It's certainly not 100 percent.  The maximum pass-through, the amount of the tax saving that is shared would not exceed 50 percent.


MR. MILLAR:  So the maximum sharing -- the sharing would be somewhere between zero and 50, your guesstimate of possibilities?


DR. LOWRY:  Yes.  Anything in that range.  It's almost like a confidence interval around the evidence and the true number that's supported by it.  It's somewhere in that range.


MR. MILLAR:  Okay, thank you.

Further questions from the Board:


MR. KAISER:  I just had one follow-up on that, Dr. Lowry.


You are very knowledgeable on all of these plans throughout North America.  When I say "plans", I mean incentive rate regulation plans.


Is this the first time you have seen this argument that a corporate tax reduction would flow through to the price index 100 percent?


DR. LOWRY:  I have not done a thorough search of that.  I could have been asked to.  No one actually asked me to.


Mr. Penny dug up a few examples yesterday that he presented to Dr. Loube where there was a decision, an explicit decision, for a zero pass-through.  Of course, there is this case that we were just discussing about the IRM 2 where there was 100 percent pass-through, but the whole spirit of that was, Let's do something -- let's not spend too much time thinking about this.  We will get all of these issues sorted out just right in IRM 3.  Let's just do something sensible to get some attrition mechanism in place for these companies.


So I am not aware of a case where there was 100 percent pass-through, and I am aware of cases where there was a zero pass-through, including most obviously the last Union Gas price cap plan.


MR. KAISER:  What about this 50 percent that you have now laid on the table?  Are there 50 percent cases anywhere?


DR. LOWRY:  Again, that was only the upper bound of a range in which -- I am not sure where the evidence supports it.  So that's the most extreme outcome, but I would point no further than the Enbridge settlement, where that's what was decided.


MR. KAISER:  Thank you.  Anything further, Mr. Millar?


MR. MILLAR:  No.  I think that is it until Friday.


MR. KAISER:  Friday, 9 o'clock?


MR. PENNY:  Yes, thank you.


MR. KAISER:  Yes.  Thank you.


--- Whereupon the hearing adjourned at 2:19 p.m.
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